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Question Number : 1 Question Id : 7532296676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five friends Navya, Prateek, Mukul, Pihoo and Vibha are sitting on a straight bench, all facing north. There are only two friends sitting between
Navya and Pihoo. Prateek is sitting to the immediate right of Pihoo and third to the left of Vibha. How many friends are sitting between Vibha
and Mukul?

Options :
1.#*0
2.¥ 1
3.% 2
4. % 3

Question Number : 1 Question Id : 7532296676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %0

2.¢ 1

3.% 2

4. %3

Question Number : 2 Question Id : 7532296677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six students Q, R, S, T, U and V are sitting on a straight bench facing towards east. R is sitting to the immediate left of T. S is sitting at the
extreme right end. Only two friends are sitting between R and Q. U is sitting at the third position from the left side and to the immediate left of R.
Who is sitting at the extreme left end?

Options :
1.¥Q
2.%V
3.% R
4. % T

Question Number : 2 Question Id : 7532296677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥Q

2.%V

3.% R

4. % T




Question Number : 3 Question Id : 7532296678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nine friends G, H, I, J, K, L, M, N and O are sitting in a straight line facing towards the east. M is sitting exactly at the middle position. Only
four friends are sitting between L and G. G is sitting third to the right of M and to the immediate left of O. Only J is sitting between L and N.
Who is sitting at the extreme left end?

Options :
1.* 0
2.¥ N
3. % L
4. % H

Question Number : 3 Question Id : 7532296678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %0

2. % N

3. %L

4. % H

Question Number : 4 Question Id : 7532296679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven girls Jaismeen, Farheen, Sweety, Anaya, Vishakha, Kamini and Lovely are sitting on a straight line facing towards north. Jaismeen is not
the immediate neighbour of Anaya or Sweety. Farheen is sitting fourth to the left of Jaismeen and to the immediate right of Vishakha. Lovely is
sitting at the extreme right end and third to the right of Sweety. Who is sitting at the extreme left end?

Options :

1. # Farheen



2. ¥ Vishakha
3. * Anaya

4. % Kamini

Question Number : 4 Question Id : 7532296679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g

2.« fa=ma

3. % 3HF/Em

4. % ST

Question Number : 5 Question Id : 7532296680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row, Monalika is at the 12th position from the left and Vinayak is at the 14th position from the right. Monalika is second to the left of
Vinayak. Find the number of people in the row.

Options :
1. * 25
2. % 26
3.¥27
4. % 28

Question Number : 5 Question Id : 7532296680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * 25
2. % 26
3.¥27
4. % 28

Question Number : 6 Question Id : 7532296681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six doctors A, B, C, D, E and F live on different floors of a six-floor building having floor numbers from 1 to 6. D lives just above the floor of E.
F lives on the 4th floor and D does not live on the top or the bottom floor. A lives just below the C’s floor. Who lives on the first floor?

Options :
1. % A
2. % E
3.B
4. % C

Question Number : 6 Question Id : 7532296681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L% A

2. % B

3. B

4. % C

Question Number : 7 Question Id : 7532296682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Six teachers A, B, C, D, E and F have their classes on six different days of a week starting from Monday and ending on Saturday, but not
necessarily in the same order. Only two teachers have classes before A. Only three teachers have classes between F and E. The class of only E is
after the class of C. The class of B does not lie between the classes of C and A. On which day does D take the class?

Options :

1. * Tuesday
2. ¥ Thursday
3. * Friday
4. # Saturday

Question Number : 7 Question Id : 7532296682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

I. % HIAAR
2. ¥ I[RdR

3. # R[hdR
4. % QMHAR

Question Number : 8 Question Id : 7532296683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

I. Some flowers are fruits.
I1. All fruits are plants.
III. Some plants are trees.

Conclusions:



I. Some trees are flowers.
II. Some plants are flowers.

Options :

1. #® Only conclusion I follows.

2. % Only conclusion II follows.

3. % Both conclusions I and II follow.

4. ¥ Neither conclusion I nor II follows.

Question Number : 8 Question Id : 7532296683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 9 Question Id : 7532296684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two statements are followed by two conclusions, numbered I and II. Identify which of the conclusions is/are true based on the given statements.

Statements:
P>Q>R=S
R>T>U

Conclusions:
I.LP>U
I.Q>T

Options :

1. * Only I is true.

2. % Only II is true.

3. % Neither I nor II is true.
4. # Both I and II are true.

Question Number : 9 Question Id : 7532296684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HY:
P>Q>R=S
R>T>U

fny:
I.LP>U
ILQ>T

Options :

|. % Had [ g B
2. ¢ HIA 1 9T g
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4. % (RN S IR

Question Number : 10 Question Id : 7532296685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are six members D, E, F, G, H and I in a family, each having a different height. Only two members are taller than D. H is taller than I and
G but shorter than D. F is tallest among all. E is taller than how many members of the family?

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 10 Question Id : 7532296685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %1

2. %2

3. %3

4.¥ 4

Question Number : 11 Question Id : 7532296686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that represents the letters that, when placed from left to right in the blanks below, will complete the letter pattern.

M TJ T MR JM ]
Options :
l.* MRMIJTTR



2. RMRIJTRT
3. RMTIJTRM
4, # RMRJRRT

Question Number : 11 Question Id : 7532296686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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MTJ T MR JM ]
Options :

1.¥* MRMIJTTR

2. RMRIJTRT

3. RMTIJTRM

4, # RMRIJRRT

Question Number : 12 Question Id : 7532296687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that represents the letters that, when placed from left to right in the blanks below, will complete the letter pattern.

A K LK AL MA _
Options :

1.#* LMAKKL

2. LAMMKL

3.3 9LMAMKL

4. * LMAMLK

Question Number : 12 Question Id : 7532296687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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AK LK AL MA_
Options :

1.* LMAKKL

2. LAMMKL

3. 9 LMAMKL

4, * LMAMLK

Question Number : 13 Question Id : 7532296688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Varun eats Pizza’ is written as ‘Tin Min Rin’, ‘Piyush eats Burger’ is written as ‘Sin Rin Fin’, and “Yummy Pizza
Burger’ is written as ‘Fin Vin Tin’.

How will ‘Burger’ be written in that language?
Options :
1. # Tin
2. % Sin
3. # Rin
4. ¥ Fin

Question Number : 13 Question Id : 7532296688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Burger’ ! ‘Fin Vin Tin’ forRar S %I
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Options :
1. # Tin
2. # Sin
3. ¥ Rin
4. % Fin



Question Number : 14 Question Id : 7532296689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Varun eats Pizza’ is written as ‘Tin Min Rin’, ‘Piyush eats Burger’ is written as ‘Sin Rin Fin’, and ‘Yummy Pizza
Burger’ is written as ‘Fin Vin Tin’.

How will ‘eats Yummy Pizza’ be written in that language?
Options :

1. #* Fin Tin Rin

2. * Vin Sin Tin

3. % Tin Rin Vin

4. % Min Tin Vin

Question Number : 14 Question Id : 7532296689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ICATIER] hcHINT T, “Varun eats Pizza® ®! “Tin Min Rin® feRaT STl g ‘Piyush eats Burger’ @I “Sin Rin Fin’ foRaT ST 8 “Yummy Pizza
Burger’ I “Fin Vin Tin’ ferar Sran % |

JYI BT H “eats Yummy Pizza’ D1 {68 UHR ferar simem
Options :

1. # Fin Tin Rin

2. * Vin Sin Tin

3. % Tin Rin Vin

4. % Min Tin Vin

Question Number : 15 Question Id : 7532296690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘mango is fruit’ is written as ‘Ig Tn Pt’, ‘I eat mango’ is written as ‘Sn Tn K1, and ‘eat healthy fruit’ is written as ‘Kl
Vs lg’.

How will ‘healthy fruit’ be written in that language?
Options :



1. # KI Vs
2.9 Vslg
3. % Kllg
4. % Vs Pt

Question Number : 15 Question Id : 7532296690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh FAfYd HeHT ) ‘mango is fruit” &1 “Ig Tn Pt foRdT ST ? Teat mango’ 1 *Sn Tn K1’ forar Sran & ‘eat healthy fruit’ &I ‘K1 Vs Ig’
ferar ST g |

I HTUTHT H “healthy fruit® 1 fobd YbR feram Saem
Options :

1. ® Kl Vs

2.% Vslg

3. % Kllg

4. % Vs Pt

Question Number : 16 Question Id : 7532296691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vaibhav is facing towards the south. He turns 90° clockwise and moves 4 km straight. Then he turns by 90° anticlockwise and moves 6 km. He
further turns towards his right and moves 4 km to reach a mall. What is the shortest distance from his initial position to this mall?

Options :
1. % 10 km
2. % 85km
3. % 7km
4. % 6 km

Question Number : 16 Question Id : 7532296691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 10 km

2. % 8.5km

3. % 7km

4. % 6km

Question Number : 17 Question Id : 7532296692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alexa left her office to go home by an office bus. The bus travelled 5 km straight towards the north and then took a left turn and moved 7 km on
a straight road. The bus further took a right turn and moved 7 km on a straight road and again took a left turn and moved a further 2 km on a
straight road to reach her home. Find the shortest distance between the office and the home of Alexa.

Options :

1. % 12 km
2. % 13 km
3.9 15km
4. % 16 km

Question Number : 17 Question Id : 7532296692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TART ST B a9 H 30 3fifthd I 30+ TR o & forg Favet 2t | 99 e STR 1 3R 5 km Tl 3R R S1¢ GEST 3R el 8 )R 7
km Tel | TOAR &9 T 43T 3R et 8% WR 7 km T 3R R o1C ST 3R Weft TS W 2 km 31T TAHBR I &R Ugd T | TRl &
ST 3R TR & &6 A4 g3l J1d HIfoTe |

Options :

1. ®* 12 km
2. % 13 km
3.¥ 15km
4. % 16 km




Question Number : 18 Question Id : 7532296693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Point B is 3 m west of Point P and 4 m north of point N. Point P is 4 m south of point A and point A is 3 m west of point M. Find the shortest
distance between M and N.

Options :
1. % 7m
2. % 9m
3. 10m
4. % 12m

Question Number : 18 Question Id : 7532296693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

I.* 7m

2.% 9m

3.9 10m

4. % 12m

Question Number : 19 Question Id : 7532296694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A + B’ means ‘A is the mother of B’,

‘A — B’ means ‘A is the father of B’,

‘A x B’ means ‘A is the brother of B” and
‘A & B’ means ‘A is the daughter of B’.

Based on the given information, decide how H is related to P if ‘H+ T x G & K- P’.
Options :

1. # Sister



2. * Father’s sister
3. ¥ Mother
4. ¥ Daughter

Question Number : 19 Question Id : 7532296694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'A+B HAIZ A, BIHIATS,
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Options :

1. ® §g9

2. % qa11/fUd &t dgd

3. |

4. % T

Question Number : 20 Question Id : 7532296695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A # B’ means ‘A is the brother of B’,
‘A (@ B’ means ‘A is the husband of B’,
‘A $ B’ means ‘A is the wife of B” and
‘A & B’ means ‘A is the daughter of B’.

Based on the given information, decide how F is relatedto Bif B§N#L & G @ F’.
Options :

1. # Mother

2. # Sister

3. ¥ Mother-in-law

4. % Daughter-in-law



Question Number : 20 Question Id : 7532296695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % |
2. % dgd
3. 4™
4. % JFdY
General Ability2
Group Number : 2
Group Id : 753229346
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 753229346

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229417
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532296696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mayuri and Rubhi are the daughters of Vishal. Kanak is the wife of Manglesh. Vishal is the brother of Kavya, who is the daughter of Kanak. How
1s Mayuri related to Manglesh?

Options :

1. # Daughter

2. % Sister

3. ¥ Son’s daughter

4. % Daughter’s daughter

Question Number : 21 Question Id : 7532296696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gl

2. % dg

3. ¢ Ulal/g 1
4. % /A DGR

Question Number : 22 Question Id : 7532296697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing towards a picture of a man, Twisha said, “His mother is the daughter-in-law of my mother”. How is the man related to Twisha?
Options :

1. % Son

2. % Brother

3. ¢ Brother’s son

4. % Sister’s son

Question Number : 22 Question Id : 7532296697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TEGH! Pt TR P 3R ST B §U AT A FHal, "SUD! A T A & Gy " | 39 Al BT ¢ 1201 I T Haiel g2

Options :
1. % OF
2. % U
3. ¢ YST/HTS &1 g
4. % YIST/d5 BT YA

Question Number : 23 Question Id : 7532296698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option that indicates the arrangement of the given words in the order in which they appear in an English dictionary.

1. Magnetize
2. Magnitude
3. Magnesium
4. Magnificient
5. Magnetism

Options :

1.%2,3,1,4,5
2.%3,2,1,4,5
3.3,5,1,4,2



4. % 2,51,4,3

Question Number : 23 Question Id : 7532296698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 5! fased &1 7oA HITT, S T T8 Wec} & 39 HH ! a21faT 7, fora a3 3RSl Weaah i< o HiNlg 81 §

1.Magnetize
2.Magnitude
3.Magnesium
4. Magnificient
5. Magnetism

Options :

1. % 23,14,5
2. % 32,14,5
3.93514,2
4. % 25,143

Question Number : 24 Question Id : 7532296699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the letter-cluster pair does NOT follow the same rule or logic as followed by the given letter-cluster pair.

FHK : HJP :: ?
Options :

1. * WDG : YFT
2. % KPS : MRH
3. ¥ MRY : QTB
4. % QJK:SLP

Question Number : 24 Question Id : 7532296699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I ey o1 =g &3, e f3u 7U 3er-g9g g W a8 W a1 deb o] T8 81T €, S o T 1T 31eR-GHg I R AN EldT ] |

FHK :HJP::?
Options :

1. * WDG : YFT
2. % KPS : MRH
3. ¥ MRY : QTB
4, % QJK:SLP

Question Number : 25 Question Id : 7532296700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

12, 16,43, 59, 184, ?
Options :
1. ¥ 220
2. % 254
3. % 398
4. % 400

Question Number : 25 Question Id : 7532296700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I G- o1 Ig9 B, S fFAgfeRad 9o & uy g (2) & R WR 31 Il B

12, 16,43, 59, 184,?
Options :
1. % 220
2. % 254
3. % 398
4. % 400



Question Number : 26 Question Id : 7532296701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the number that does NOT belong to the following series.

48, 65, 82,98, 116
Options :

1. % 65

2. % 82

3. ¥ 98

4. % 116

Question Number : 26 Question Id : 7532296701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 7S T3 90 § T TTed U P Uga B

48, 65, 82,98, 116,
Options :

1. % 65

2. % 82

3. ¥ 98

4. % 116

Question Number : 27 Question Id : 7532296702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third number in the same way as the second number is related to the first number and the sixth number is
related to the fifth number.

12:134::17:?::19:351
Options :
1. % 248



2. % 262
3.9 279
4. %= 335

Question Number : 27 Question Id : 7532296702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &1 997 BT, foeT R Ue I 981 Wae 8, ST gk UG &1 Ugd U 9 § 3R T¢ Ug &1 Uidd Ug 4 7

12:134::17:?7::19:351
Options :
1. % 248
2. % 262
3.9 279
4. % 335

Question Number : 28 Question Id : 7532296703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given options, select the one in which the set of numbers does NOT follow the same logic/rule/relation as followed by the numbers in
the given set.

(125, 111, 236)
Options :

1. % (175,103, 278)
2. % (216, 153, 369)
3. % (625,178, 803)
4. (154,128, 272)

Question Number : 28 Question Id : 7532296703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu Tu fasmedl @ 39 faded o1 9g4 o3, forad T 17U TReat-wiyg & TRemsii R a8 adb/Mam sy ar] 76! g8id1 7, S fRgfeiad e
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(125, 111, 236)
Options :

1. % (175, 103, 278)
2. % (216, 153, 369)
3. % (625, 178, 803)
4. ¥ (154, 128,272)

Question Number : 29 Question Id : 7532296704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following number-triads follow a certain rule/logic/relation, and therefore are alike in a certain way. Select the one that is different.
Options :

1. % (78,97, 118)

2.9 (64, 87, 108)

3. % (112,131, 152)

4. % (124, 143, 164)

Question Number : 29 Question Id : 7532296704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofiRed Jemn-Bie! & 9 @7 te FiEd Faw/ad sy o1 ura $Rd § SR $9Y T FHidd alid 3 977d ¢ 1 fau e faswed! # 9 SR
D1 TG DI

Options :

1. % (78,97, 118)

2.9 (64, 87, 108)

3. % (112,131, 152)

4. % (124, 143, 164)

Question Number : 30 Question Id : 7532296705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following interchange of signs would make the given equation correct?

117+9—-18 x2+58=35

Options :

1. ¥ +~and +
2. % —and +
3. % +and x

4, % + and x

Question Number : 30 Question Id : 7532296705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau o g1 Y et B & foru fob ) gl &Y iU | gear S e

117+9-18x2+58=35
Options :

1.¢ =+ 3R+

2. % 3R+

3. % = 3R x

4. % + 3R x

Question Number : 31 Question Id : 7532296706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘we came’ is written as ‘sot bot’, ‘they came there’ is written as ‘zot qot sot’, ‘they think’ is written as ‘qot mot’. How
will ‘they came’ be written in that language?

Options :

1. # sot mot
2. ¥ sot qot
3. % bot mot
4. # bot qot



Question Number : 31 Question Id : 7532296706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfgd D HINT ff, 'we came' @1 'sot bot' eI SITaT %, 'they came there' P 'zot qot sot' foran smar % 3R ‘they think’ G| 'qot mot' foran smar
g1 I BT UV H 'they came' B! [ YR feram SITEm?

Options :

1. * sot mot

2. ¥ sot qot

3. * bot mot

4. % bot qot

Question Number : 32 Question Id : 7532296707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mihir goes 15 m towards north from his home; from there he turns left and walks 28 m. Then he turns right and walks 15 m. Then he finally turns
left and walks 12 m to reach an ATM. What is the shortest distance between Mihir’s home and the ATM?

Options :
1. ®* 40 m
2. % 60m
3. % 68m
4. ¥ 50 m

Question Number : 32 Question Id : 7532296707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR oM TR A I B1 3R 15 m ST §; 981 ¥ I8 918 YT § 3R 28 m IAdT o | R 98 T ST § 3R 15 m Iadl g | fhr ag 3id |
ITC GSdT § 3R 12 m IAHR TP U.ELTH IR Ugadl o | R & W 3R U TH & &g &1 Lad gXl [l 82

Options :

1. % 40 m

2. % 60m

3. % 68m

4. % 50m




Question Number : 33 Question Id : 7532296708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the given Venn diagram carefully and answer the question that follows. The numbers in different sections indicate

the number of students participating in different competitions in a school.

How many such students are there who are participating in both the Essay and Debate competitions, but NOT in the
Quiz competition?
Options :

1. #® 7

2.« 8

4. % 20



Question Number : 33 Question Id : 7532296708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G 1T SR T HFYdD T B AR UY &1 3R ¢ | it 1 | St 13 Tean fqeqrery o fafvrs wicafiarad
o U O aTel ST & O & eRifd g

N
S

SETRE

Uy fdha- 8 g, G_f\[ﬁla‘c'HEssay] 3R 91e-4d1g (Debate) UATIRTA GFT H YT W IE 8, Wi W (Quiz)
TIGTIRTET § HRT A8l o X8 &2

Options :
1 ® 7

2.¢ 8
”

3 % 12

4 % 20



Question Number : 34 Question Id : 7532296709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option figure that can replace the question mark (?) in the given figure to complete the pattern if no rotation

allowed.

Options :

2. ¥



Question Number : 34 Question Id : 7532296709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 e &1 9o B3 ol &1 7T 3M1pfa & W g () Bl ufaefid &= Gl € 9iR e o) 1 9 Ul g afg
gHH & 3FAT Tl g

Options :



2.¥

X KX RC

4. %

Question Number : 35 Question Id : 7532296710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :



O
I
>

3.¢

Question Number : 35 Question Id : 7532296710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad IR srefaal @ 9 3F 56Ul U Mg wie § 99 & ofR Us favd 81 3748 1 [ &1 90+ o3|

Options :




S =C
) O=A4A
AXC
3.*?:]5-
e =[]
4 % * % 0

Question Number : 36 Question Id : 7532296711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :




3. ¢

Question Number : 36 Question Id : 7532296711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeiad TR ergiaal o g i fedt U Migd diice 9 9 € 3R U fdud ¢ | faws &1 9g+ & |

Options :




3. ¢

Question Number : 37 Question Id : 7532296712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :

2N
2N




2. ¥

Question Number : 37 Question Id : 7532296712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafeiRad IR aipical & 9 iF bl U Figd dlic d GH € SR U [99d ¢ | fwH &1 98+ Y|

Options :

2N
2N




Question Number : 38 Question Id : 7532296713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
CONVENTIONS

Q

Options :
| x 2UOTINAVHOD



, ¢ GMOITUHVVOD

, « COMAEMILOMNE

4 8 COMAENILIONE

Question Number : 38 Question Id : 7532296713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGU TTU Yo & 9e! gUu Yidfdd &1 994 &< ofd Ul &l [&aN 7T 39R PQ WR W T 8 |

P
CONVENTIONS

Q
Options :
cMOTIVMHAVMOD

1. %

L, cHMOITHUMHAVVOOD
2.¥

;3 8 GCOMAEMILONE

,x COMAEMLIIONZ

Question Number : 39 Question Id : 7532296714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option in which the given figure is embedded (rotation is NOT allowed).

2. %
3.¢
N
7
4, ®

Question Number : 39 Question Id : 7532296714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 fased o1 7o B fored <t 71g gl wifed € (gaH @i sigafd el @)

/
Options :
R
1. %
< 7
2. %

A\




Question Number : 40 Question Id : 7532296715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

following figures. How would this paper look when unfolded?

-
]
]
]

F===T====
i i
] |
L] [

000

|
1
1
'
1
L

b = = =
P -

Options :




Question Number : 40 Question Id : 7532296715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHTY & Udh Tho Dl HIS &1 hH HR 579 TP I Hg gUHNTS &I H1el 741 8, 98 a4 &I Fafarad sefaal
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

General Awarenessl

3
753229347
0

0

No

No

0

20

No

General Awarenessl

753229347
1

Online
Mandatory
20

20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229418
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532296716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the age of Babur when he ascended the throne of Ferghana?
Options :

1. ¥ 12 years

2. # 13 years

3. * 14 years

4. = 15 years

Question Number : 41 Question Id : 7532296716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIeR d BT &1 e R 93T, 3T 0T It 3G et ot
Options :

1.« 1294
2. % 1394
3. % 1499
4. % 1599

Question Number : 42 Question Id : 7532296717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Burhan-ul-Mulk Sa‘adat Khan was appointed subadar of Awadh in:
Options :

1. % 1718



2.9 1722
3. % 1734
4. % 1751

Question Number : 42 Question Id : 7532296717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

REM-30-Teb Y3MGd W (Burhan-ul-Mulk Sa‘adat Khan) ®1 H 3faY BT JaGR g fobar mam |
Options :

1. % 1718

2.9 1722

3. % 1734

4. % 1751

Question Number : 43 Question Id : 7532296718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is associated with Champaran Satyagraha?
Options :

1. ¥ Raj Kumar Shukla

2. % Lala Har Dayal

3. % C Rajagopalachari

4. # Lala Lajpat Rai

Question Number : 43 Question Id : 7532296718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7 3 S JUR 9ATIE ¥ Heifdd 82
Options :

1. & ST HHR R

2. % Il gl



3. % Y, JSUTATRY
4, % QAT AU I

Question Number : 44 Question Id : 7532296719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did Mahatma Gandhi begin walking from his ashram at Sabarmati towards the ocean for salt march?
Options :

1. % 18 March 1930

2. % 18 April 1930

3. ¥ 12 March 1930

4. % 12 April 1930

Question Number : 44 Question Id : 7532296719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRTHT TTiel 3 30 ATaRA SMTH I THD TGl (salt march) o o7 TS B 3R T Ha Y= (b7 UT2
Options :

1. % 18 HTE 1930

2. % 183U 1930

3.+ 12 91 1930

4. % 12 30 1930

Question Number : 45 Question Id : 7532296720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vasco da Gama, a Portuguese explorer, discovered the sea route to India in:
Options :

1. % 1479

2. % 1498

3. % 1509



4. ® 1547

Question Number : 45 Question Id : 7532296720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QATTe WieTehdi areep! St AT 3 H HRd & forw gel A1 &1 @ie &1 ot
Options :

1. % 1479

2. % 1498

3. % 1509

4. % 1547

Question Number : 46 Question Id : 7532296721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After the 1857 revolt, Bahadur Shah Zafar and his sons were arrested by:
Options :

1. # Captain John Nicholson

2. % Captain William Taylor

3. % Captain Hugh Rose

4. ¥ Captain Hodson

Question Number : 46 Question Id : 7532296721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 & fa5Ie & 9Tc, TEIGR B IR RIS T HI A s |
Options :

1. % P A Foprer

2. % PP fafegm TR

3. % B0 g

4.« HPAGISTA




Question Number : 47 Question Id
Orientation : Vertical

: 7532296722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who among the following became India’s 72nd grandmaster of chess?

Options :

1. # Abhimanyu Mishra
2. % Dommaraju Gukesh
3. % Sankalp Gupta

4. ¥ Mitrabha Guha

Question Number : 47 Question Id
Orientation : Vertical

: 7532296722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

YRS & 729 JSHRER (grandmaster) DT %?

Options :

1. % STy o
2. % SRS T
3. % Yoy Il

4. ¢ ORI TaT

Question Number : 48 Question Id
Orientation : Vertical

: 7532296723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following states started the Gramin Olympic scheme on 14 November 20217

Options :

1. % Haryana
2. ¥ Rajasthan
3. % Gujarat
4. ¥ Punjab

Question Number : 48 Question Id

: 7532296723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

14 78R 2021 P! {59 ITog A Artor 3cifies AT = &1 g2
Options :

1. % gfwgron

2. ¢ IR

3. % ORI

4. % OIS

Question Number : 49 Question Id : 7532296724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of ‘USTAD’ which is an initiative started by the Ministry of Minority Affairs?
Options :

1. # Updating the Skills and Training in Traditional Arts/ Crafts for Development

2. % Upgrading the Skills and Talent in Traditional Arts/ Crafts for Design

3. % Updating the Skills and Training in Traditional Arts/ Crafts for Design

4. ¢ Upgrading the Skills and Training in Traditional Arts/ Crafts for Development

Question Number : 49 Question Id : 7532296724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRRAD DY HATTI GRT Y& 1 T3 Ugd "USTAD" (STG) BT YUl & &1 87

Options :

1. Updating the Skills and Training in Traditional Arts/ Crafts for Development (3TSieT & e Te aﬁ"T EGl E%QFW’T &n'&rmuatr BIR

2. % Upgrading the Skills and Talent in Traditional Arts/ Crafts for Design (&qalgll g fpay ts Cde &4 a\%-‘%l"lﬂ &ﬂéﬂw R
SEIES)

3. ® Updating the Skills and Training in Traditional Arts/ Crafts for Design (\Hqgié’l g e alﬁll ERl a ST ﬂTé\HW BR
SEIER)

4. ¥ Upgrading the Skills and Training in Traditional Arts/ Crafts for Development (31@%_"[ T Rrts ai?‘ill EXl aigfl T WW
BR '



Question Number : 50 Question Id : 7532296725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states announced the Mathrubhumi Scheme in September 20217
Options :

1. ¢ Uttar Pradesh

2. % Bihar

3. % Manipur

4. ¥ West Bengal

Question Number : 50 Question Id : 7532296725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrdeR 2021 & 578 9 forg o9 = AIqYfH Ao St SN &1 82
Options :

1. ¥ JWR UK

2. % fagR

3. % OOQR

4. % Uiy &7

Question Number : 51 Question Id : 7532296726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first state to implement the cyber crisis management plan in the power sector?
Options :

1. # Andhra Pradesh

2. # Karnataka

3. ¥ Madhya Pradesh

4. % Kerala



Question Number : 51 Question Id : 7532296726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAggd & (UreR JdeR) T TSeR YR&M Hdhe YSH AoiT AL B+ aTel Ugdl g DI 1 82
Options :

1. % 3y Y™

2. % HACH

3. ¢ O U

4. % Hd

Question Number : 52 Question Id : 7532296727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries became the first country in the world to accept a Bitcoin as legal tender?
Options :

1. # Ethiopia

2. # Nigeria

3. ¥ Djibouti

4. ¥ El Salvador

Question Number : 52 Question Id : 7532296727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fyedhig B AT ¢8R (AU &) & U B Widd HR- ardll g-141 &1 Ugell G DI AT g2
Options :

1. % gimfuaT

2. % AgOiRAr

3. % Il (Djibouti)

4. ¢ 3 ITedISR (El Salvador)

Question Number : 53 Question Id : 7532296728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which caves were built in the third century BCE during the Mauryan period in Bihar?
Options :

1. # Bhimbetka Caves

2. # Khajuraho Caves

3. ¥ Barabar Caves

4. ¥ Bagh Caves

Question Number : 53 Question Id : 7532296728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgR & A1 HTd & SR dHaRT XdTsg! 5901 gd | 353 T[0T 1 fafor garm am
Options :

1. % fHdeHT THY

2. % WAR! TP1Y

3. ¢ SRIR TBU

4. % gETHIY

Question Number : 54 Question Id : 7532296729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Walar dance of Rajasthan is a beautiful and enthusiastic tribal dance performed particularly by the women of:
Options :

1. ¥ Garasia tribe

2. % Santhal tribe

3. # Khasi tribe

4. % Naga tribe

Question Number : 54 Question Id : 7532296729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



RIS &1 dTeR 7, [aRY &g 4 &1 Afgens gRT veRid Yax 3R It sfearh T 5|
Options :

1. « TRIRAT SieMfd

2. % YT SNt

3. % @il SO

4. % AT S

Question Number : 55 Question Id : 7532296730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bharatanatyam of Tamil Nadu in southern India has grown out of the art of dancers dedicated to temples, and was earlier known as:
Options :

1. # Lotha

2. % Kadar

3. % Lezim

4. ¥ Sadir

Question Number : 55 Question Id : 7532296730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S0 YRA H afeTg BT URdHTeaH, HieRl &1 guftd Tdfedl & Hon 3§ fAsfRid geng, SRy Ugd & ATH I ST STl o |
Options :

1. % QT

2. % HER

3. % df9™

4. ¥ AIfeR

Question Number : 56 Question Id : 7532296731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following folk dances is associated with the state of Sikkim?



Options :

1. % Phagun Puni
2. # Dalkhai

3. ® Hojagiri

4. ¥ Tashi Sabdo

Question Number : 56 Question Id : 7532296731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 7 ¥ o W ae T, Rifden Isg 3 G6ftd g2
Options :

1. % BEE I

2. % Sadls

3. % ISR (Hojagiri)

4. ¢ RN Tsql (Tashi Sabdo)

Question Number : 57 Question Id : 7532296732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 2021, legendary singer S P Balasubrahmanyam was posthumously honoured with the:
Options :

1. ¥ Padma Vibhushan

2. % Padma Shri

3. ¥ Padma Bhushan

4. % Bharat Ratna

Question Number : 57 Question Id : 7532296732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 H, M TS TH. U1, STARGSHUGH &1 ARUNURId q 1A fooam T ATl

Options :



1. ¢ g1 fayumor
2. % gy At

3. % U1 Yyl
4, % URAd

Question Number : 58 Question Id : 7532296733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nisar Hussain Khan, Rashid Khan are the two prominent musicians of recent times belonging to:
Options :

1. ¥ Rampur Saheswan Gharana

2. % Jaipur Gharana

3. % Gwalior Gharana

4. % Agra Gharana

Question Number : 58 Question Id : 7532296733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R g9 W, IRE W, gadq H % & U GdeR 3
Options :

1. ¢ MHPR-FJeHd-T YT

2. % SR YAl

3. % TqIfCRR ORI

4, % HRTYRIAT

Question Number : 59 Question Id : 7532296734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state is Makaravilakku festival celebrated in Sabarimala Temple?
Options :

1. ¥ Kerala



2. * Maharashtra
3. # Karnataka
4. % Andhra Pradesh

Question Number : 59 Question Id : 7532296734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MWﬁ, mﬂmﬁmﬁm(Makaravilakku)mmW%?
Options :

1. ¢ B

2. % HERIY

3. % FlcdH

4. % 3 G

Question Number : 60 Question Id : 7532296735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hampi festival, which is also known as Vijaya Utsav, is a famous festival celebrating the birthday of the ancient poet:
Options :

1. # Tirumalamba

2. % Chikkupadhyaya

3. % Amoghavarsha

4. % Purandaradasa

Question Number : 60 Question Id : 7532296735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS I & =g & 1Y ST S 9Tl 5 dIgR, UreiF &fd & ST BT oY T o UG JdIgR g
Options :

1. ® WWT(Tirumalamba)
2. % J[%ITJI<_3>'_CIT‘E?3|T5[ (Chikkupadhyaya)



3. % YAy (Amoghavarsha)
4. ¥ Y QMY (Purandaradasa)

General Awareness2

Group Number : 4

Group Id : 753229348
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 753229348
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229419
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532296736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the Union budget 2021-22, which of the following is the largest source of income for the central government?
Options :

1. ¥ Corporation-Tax

2. % Borrowings and Other Liabilities

3. ¥ Non-Debt Capital Receipts

4. % Goods and Service Tax

Question Number : 61 Question Id : 7532296736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B FOIC 2021-22 & TR, 378 I B I, Hg DR & (AT 34T BT I IST HId 87
Options :

1. % DR

2. ¢ IYR TG 39 <Idd

3. % TR-F50T Golhird Ut

4. % U Td AT

Question Number : 62 Question Id : 7532296737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the ‘Human Development Index’ 2020, the life expectancy of Indians at birth in 2019 was:
Options :

1. ¥ 69.7 years

2. # 67.3 years

3. % 72.4 years

4. % 70.8 years

Question Number : 62 Question Id : 7532296737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 [AHT Yadbics' 2020 & IR, 2019 T FH & O YR 1 St G fave ot

Options :



1. 69.7 99
2. % 67379
3. % 724799
4. % 70.8 qY

Question Number : 63 Question Id : 7532296738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Industrial Finance Corporation of India set up as a Statutory Corporation for providing medium and long term finance to
the industry?

Options :
1. ¥ 1948
2. % 1952
3. % 1954
4. % 1956

Question Number : 63 Question Id : 7532296738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg a¥, YR SR o e 31 ST Sd &1 T Td eabiier [aauro U o+ & it Te de1f-es 7 & =0 & Ri1fd
fepam T

Options :

1. ¥ 1948

2. % 1952

3. % 1954

4. % 1956

Question Number : 64 Question Id : 7532296739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the government increases the money supply in the economy using budgetary instruments to either raise spending or cut taxes is called:
Options :



1. # neutral policy
2. ¥ expansionary policy
3. % contractionary policy

4. # normalised policy

Question Number : 64 Question Id : 7532296739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mw%mﬁwﬁmmﬁﬁﬁmﬁ%%umwﬁmmﬂma{zfauawﬁgawm%faarcﬁ%,a‘rs“@f
CRSIGIN

Options :

1. % oo giferdt

2.+ THURFRY Uiferdt

3. % Yo giferdt

4. % Alddrsss grfert

Question Number : 65 Question Id : 7532296740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Union Budget 2021-22, it is announced that the Government will amend the Insurance Act, 1938 to increase the permissible FDI limit from
49% to:

Options :
1. ¥ 74%
2. % 65%
3. % 75%
4. % 67%

Question Number : 65 Question Id : 7532296740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

é’o—sﬁnaﬁrc'%?%l-zz o g 9N &1 78 ¢ fb R, i SfAfFTm, 1938 T TRNeH HR AT UH. ST, (FDI) T BT 49% J FGTHR
B M|



Options :
1. ¥ 74%
2. % 65%
3. % 75%
4. % 67%

Question Number : 66 Question Id : 7532296741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state is Ghughua/Ghughwa fossil park located?
Options :

1. ¥ Rajasthan

2. # Bihar

3. % Uttar Pradesh

4. ¥ Madhya Pradesh

Question Number : 66 Question Id : 7532296741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3/THAT SHaTRA 3T oy Iod J fya 87
Options :

1. % ST

2. % fogR

3. % WU

4. ¥ AA Y

Question Number : 67 Question Id : 7532296742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states and the percentage of its population with respect to the total population of India is approximately correct according
to the Census of 2011?

Options :



1. # Rajasthan - 6.5%

2. ¥ Mabharashtra - 9.29%
3. ¥ West Bengal - 9.79%
4. % Bihar - 9.02%

Question Number : 67 Question Id : 7532296742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 BT SFRTUFT & AR, HRA $1 Hd S0 & A T S8 I DI 11 I5T 3R ST SRS 1 Wia=rd T+ el 82
Options :

1. # SIRYT - 6.5%

2. ¢ HERIY - 9.29%

3. % Gi3H §eT -9.79%

4. % TI8R- 9.02%

Question Number : 68 Question Id : 7532296743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Census of 2011, which of the following states has the literacy rate less than 70%?
Options :

1. # Mizoram

2. ¥ Bihar

3. % Kerala

4. ¥ Himachal Pradesh

Question Number : 68 Question Id : 7532296743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 P SFRTUMT & AR, 399 {9 IToT Bt A1&RAT &R 70% I HH g2
Options :

1. % FSIRH




2. ¢ fagR
3. % B
4, % RO UCY

Question Number : 69 Question Id : 7532296744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Rewa Solar Project located?
Options :

1. ¥ Madhya Pradesh

2. % Andhra Pradesh

3. % Uttar Pradesh

4. % Arunachal Pradesh

Question Number : 69 Question Id : 7532296744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e B aR b T 2 R 29
Options :

1. ¥ T Y

2. % 3fiY US

3. % IR UK

4. % 3RBUTEA U=

Question Number : 70 Question Id : 7532296745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which country will the 27th session of the Conference of the Parties (COP 27) to the UNFCCC take place?
Options :

1. % Malta

2. # Netherlands



3. % Belgium
4. ¥ Egypt

Question Number : 70 Question Id : 7532296745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g UA.TE AR, (UNFeee) & o gt &1 27a1 9 F9aH (COoP 27) fodg S=r & grme
Options :

1. % Hle<l

2. # Hiexds

3. % dfcod

4. ¢ g

Question Number : 71 Question Id : 7532296746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which strait is the only marine gateway between the icy Arctic and the Pacific Ocean located between Alaska and Russia?
Options :

1. # Hormuz strait

2. % Bering strait

3. % Bab al-Mandab strait

4. % Palk strait

Question Number : 71 Question Id : 7532296746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARSI 3R T & o1 FUT B T TASHEH (Strait) THIA b R YR HEMNR & &d THHT TG I §R (marine

gateway) %?

Options :

|. % RYY SIdSHETY (Hormuz Strait)
2. ¢ AT SlSHEaH (Bering Strait)




3. % 99 3A-A<d AASHEHH (Bab al-Mandab Strait)
4. % Ui TASHEHE (Palk Strait)

Question Number : 72 Question Id : 7532296747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following vitamins is helpful in blood clotting and wound healing?
Options :

1. % Vitamin E

2. % Vitamin A

3. # Vitamin C

4. ¥ Vitamin K

Question Number : 72 Question Id : 7532296747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o O D19 A1 faeTiiE, I9d &1 4aHT THM 3R 919 4R H 9g1® gl 62
Options :

1. % faeif— E

2. % fqerfee A

3. % fqeid C

4. ¢ faerf K

Question Number : 73 Question Id : 7532296748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a network of long fibres that make up the cell’s structural framework?
Options :

1. % Cytoplasm

2. % Ribosome

3. % Lysosomes



4. ¥ Cytoskeleton

Question Number : 73 Question Id : 7532296748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIRBT B IRATHD & B T aTal O dgeil BT ede I 172
Options :

1. % DIRBIGA

2. % I

3. % AN

4. ¢ FrscRbAcA

Question Number : 74 Question Id : 7532296749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination is NOT correct with respect to the technology and its corresponding principle?
Options :

1. ® Sonar - Reflection of ultrasonic waves

2. ¥ Lasers - Controlled nuclear fission

3. # Steam engine - Laws of thermodynamics

4. % Optical fibres - total internal reflection of light

Question Number : 74 Question Id : 7532296749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 A B9 97 9O, doh-id 3R 39 ITd Rigid & Jay § I8! 781 82
Options :

1. % THR - GRI%ST a9 T URTdeH

2. ¢ ToR- T e fadsd

3. % YU $5H - NP (9T

4. ® UPHIRD dq (YDA BIZER) - ThTRI BT g1 idRed TRIdcH




Question Number : 75 Question Id
Orientation : Vertical

: 7532296750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

The power of a lens of focal length
Options :

1. # 1 centimetre

2. ¥ 1 millimetre

3. % 1 metre

4. % 1 nanometre

Question Number : 75 Question Id
Orientation : Vertical

is one dioptre.

: 7532296750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

BIhd g3t aTal A T & (UTaR) Uh SATPR it 7

Options :
1. % 1 AR
2. % | fiefidiex
3. ¢ 1 4R
4. % | R

Question Number : 76 Question Id
Orientation : Vertical

: 7532296751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a d block element in the modern periodic table?

Options :
1. # Na
2. ¥ Fe
3. % Ne
4. # K

Question Number : 76 Question Id

: 7532296751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & @ &9 a1 3y srad Iruft 7 St (d) sdie dd 72
Options :

1. ¥ Na

2. ¥ Fe

3. % Ne

4, ¥ K

Question Number : 77 Question Id : 7532296752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Articles of the Constitution of India contained the provision of 'no double jeopardy'?
Options :

1. # Article 14

2. ¥ Article 20

3. % Article 19

4. % Article 22

Question Number : 77 Question Id : 7532296752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Afae™ & 599 9 fog 3@@?{ G ERA R R L | (no double jeopardy)' bT UTdYTT %?
Options :

1. % 3Jq 14

2. ¢ TG 20

3. % 3G 19

4. % 3G 22

Question Number : 78 Question Id : 7532296753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The 86th Constitutional Amendment Act added a new fundamental duty to the Constitution of India, according to which it shall be the duty of
every citizen in India to provide opportunities for education to his child or ward between the age of:

Options :

1. # 5to 10 years
2. % 5to 15 years
3. % 6to 18 years
4. % 610 14 years

Question Number : 78 Question Id : 7532296753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

869 Ty T=Ne ST gRT YR Tfaur & te Fa1 Aifciss wdad A foar mar 8, e $aR 98 YRd & U ANRS &I
S gl b a8 DI Y o &1 U T 1 3 ! A& & TR Te™ H |

Options :

1. % 5F 1099
2. % 591599
3. % 6T 189y
4.¢ 671499

Question Number : 79 Question Id : 7532296754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Constitutional Amendment Act of the Constitution of India was declared null and void by the Supreme Court?
Options :

1. # 26th Constitutional Amendment Act

2. # 73rd Constitutional Amendment Act

3. # 74th Constitutional Amendment Act

4. ¥ 99th Constitutional Amendment Act

Question Number : 79 Question Id : 7532296754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HRAT Jfae™ & s9H ¥ forg Tfaem Ines faw & Sadd aared 3 S 9t fosar mar Ut
Options :

1. % 264 Gfaem TNy rfafaq

2. % 7391 Afgum I=ne= sifefaq

3. % 7491 Afay™ SNy ffef=aH

4. ¢ 99a} Tfay Iy Hffaq

Question Number : 80 Question Id : 7532296755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to India’s independence movement, what was the approximate length of the historic Dandi March (Salt March) undertaken by
Mahatma Gandhi along with his followers in 19307

Options :

1. ¥ 385 km
2. % 485 km
3. % 285 km
4, % 185 km

Question Number : 80 Question Id : 7532296755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & ol sffaiead o gaH o, 1930 T AT Tt GRT 3= SrIariidl & W1y &t 718 CfdgiRie aie! Ol (H® 3figiar) &t ddlg
YT fobant ot

Options :

1. ¢ 385 fohaHIeR
2. % 485 fopaier
3. % 285 fharHeR
4. % 185 fhaHiex

Arithmetic Abilityl
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Question Number : 81 Question Id : 7532296756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If0.041+0.092+0.1—0.06 + 0.39 — (0.3 x 0.6) = x — 0.417, then what is the value of x ?
Options :
1 % 0.04

) # 0.7



3.¢ 0.8

Question Number : 81 Question Id : 7532296756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4f¢ 0.041+ 0.092 + 0.1 — 0.06 + 0.39 — (0.3 X 0.6) = x — 0.417 %t_‘ljfx PIHAIAS G“IEI
Options :
1 % 0.04

Question Number : 82 Question Id : 7532296757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The value of (0.57 = 0.234) x

5.27 {0.13)% +(0.21)*
1.3 (0.39)2 +81(0.07)

- s equal to:

Options :
29
1 % 3



3. 9
E
4.% 9

Question Number : 82 Question Id : 7532296757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(0.57 = 0.23%) x 22 — 01374021 51 e | fords sRIaR 82

1.3 (0.29)2+81(p.07)2

Options :
29
] % 3

Question Number : 83 Question Id : 7532296758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thevahleof{S%!—:l% Gfié ) +233 s:rfét%)'ts:
Options :
T

.V 30



| =

o | =

Question Number : 83 Question Id : 7532296758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@< - of 5 )+ = X(5-+2 of 41) T A J1d B |
Options :

7

1. & 30

w | =

& |

Question Number : 84 Question Id : 7532296759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



- 7 11
In an office, out of 300 employees. i of the employees are males and the rest are females. — of the males are graduates

25

3 § :
and = of the females are also graduates. The number of employees who are not graduates in the office is:
pu ]

Options :
1.« 148

Question Number : 84 Question Id : 7532296759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Praferd , 300 HHANE!H E, L HHIRT G29 § R WY AfRAN €1 L2 goy wae § 3R 2 wfgany i wmas
¥ | St & U8 HHaTRE & O o 2, 5 Sae Tel 2

Options :
1.« 148

Question Number : 85 Question Id : 7532296760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The HCF of 4512, 5088 and 5856 is x . What is the product of the digits of x ?
Options :

1 ® 48

Question Number : 85 Question Id : 7532296760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4512, 5088 A 5856 ] HewH GHYAD (HCF) x ¢l x & bl &1 IUFEHE F1d HIfo |
Options :
1 #® 48

Ln
&

2.¥

Question Number : 86 Question Id : 7532296761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The LCM of two numbers is 15 times their HCF, and the sum of their LCM and HCF is 432. If the sum of the two
numbers is 216, then what is the difference between them?

Options :
1. # 16

I
-1

2. ®

Question Number : 86 Question Id : 7532296761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l ST 1 AHTH GATUGY (LCM), 395 Hewd YHUad® (HCF) & 15 1 & SRR g, 3R 370 Ayt
THUE™ (LeM) 3R HgdH THIUGD (HCF) BT AT 432 © | Tfc Uerali &l ail 216 &, dl E3il &1 3iaR I1d
GAINY

Options :
1. # 16

I
-1

2. ®

4.« 34

Question Number : 87 Question Id : 7532296762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If the 8-digit number 8590 x54y is divisible by 24, then what is the value of (3x — 2y). for the largest value of x ?
Options :

1 ® 11

, #® 12
3.¢ 13

4 % 15

Question Number : 87 Question Id : 7532296762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 8- 1Y YT 8590 154y, 24 YTAHT 8. d x & HUDHdH M & AW (3x — 2y) BT JTd BT

Options :
1 ® 11

r ® 12
3 ¢ 13
4 % 15

Question Number : 88 Question Id : 7532296763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the 5-digit number 972ab is divisible by 231, then what is the value of (a® + b* + ab)?
Options :



Question Number : 88 Question Id : 7532296763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl 5 3P TJAT 972ab, 231 Y AU 8, T (a2 + b? + ab) THM I1d BT
Options :
1. % 19

Question Number : 89 Question Id : 7532296764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value Df(5£+ 12 nf41)+%—1—1— y G BPR Y
3 3 4 5 3] 2 3 3
Options :
g

] % 3



23

Question Number : 89 Question Id : 7532296764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(52+120r42)+2-2422- 21+ 42 HrAM TG BTl

Options :
8

1. % 3

23
) ® 12

29

Question Number : 90 Question Id : 7532296765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A, B and C are three numbers such that B is 40% more than C and A is 40% of the sum of B and C. By what percentage

is B more than A (correct to one decimal place)?
Options :
1 % 31.4%

5 % 41.6%
3 v 45.8%
4 % 46.9%

Question Number : 90 Question Id : 7532296765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R ¢ I U T € fF B, € W 40% 24P € 3R A, B 3R ¢ P T & 40% & SRR ¢ | B. A ¥ fha-
=T 21f¥d 52 (U SRHTa R db QUliiad)

Options :
1. % 31.4%

) % 41.6%
3 45.8%
4 % 46.9%

Question Number : 91 Question Id : 7532296766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The income of Raghu is 180% more than his savings. If his income increases by 135% and the savings increase by 20%,

then the percentage increase in his expenditure is approximately:
Options :
1. % 10.9%

¥ 0

7 o 12.2%
3 # 12.9%

4 % 13.2%

Question Number : 91 Question Id : 7532296766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Bl M IGD| 590 H 180% HD &1 Ffe IFb! A H 15% B! gl il & HR 90 H 20% B gig gldl 8, dl
Y g H g arell UfaRid gfa TRt fba 82

Options :
1. % 109

5 @ 122
3 % 12,9

4 % 132

Question Number : 92 Question Id : 7532296767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The average weight of 25 students in a group is 55.6 kg. When 5 students having weights of 54.8 kg, 62.4 kg, 60 kg,
52.6 kg. and 55.2 kg leave the group and 10 students of average weight 56 kg join the group, then what will be the new
average weight of the students in the group?

Options :

| = S42kg

, % 54.8kg

kg

(98]
rn
L
L]

[

kg

N
¥
Lh
o
h
[}

Question Number : 92 Question Id : 7532296767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh TG & 25 BET Bl ATd G0 55.6 ke © | O1F 54.8 ke, 62.4 kg, 60 kg, 52.6 kg AR 55.2 kg GO a1t 5 B YYE
BIS 3d 8 3R 56 kg T o T 10 B THE & AW 1 O1d 2, O T & ST &1 71 379 Io 1 R
Options :

| S42kg

, % 54.8kg

kg

(O8]
rh
A
h

[

>
®
L
&
Lh
rW



Question Number : 93 Question Id : 7532296768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average temperature of a city for the first 4 days of a week was 35 °C. The average temperature for the second,

third, fourth and fifth days was 36.5 °C. If the temperature on the first and the fifth days were in the ratio of 3 : 4, then
what was the temperature (in °C) on the fifth day?

Options :

1. ® 20

2. ¢ 24

3 & 28

Question Number : 93 Question Id : 7532296768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUTE & Ygd IR foA! o [0 Ueh U8R &1 S1Gd diad 35°C UT| SRR, AN, 919 31R Uied 13 &1 3{1¥d argaH
36.5°C Y11 TS Ugd R Urad & o Al 1 HUTd 3:4 41, T Uigd & &1 araam (oc o) T 41

Options :
1. # 20

2.« 24

3 & 28



Question Number : 94 Question Id : 7532296769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 54 students, the number of girls is 20% less than the number of boys. The average height of the boys is 2
cm more than the average height of all the students in the class. The average height of the girls is 154 cm. What is the
average height (in cm) of the boys?

Options :

| % 156

Question Number : 94 Question Id : 7532296769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

54 Taenieial &1 U el |, TSihul &1 T AShi Bl G U 20% HH ¢ | TSD! D A dals, Bl & FHI
faenfeial &t Gﬁ'ﬂﬁ@aﬁéﬁ cIm W%I Wﬁaﬁ'ﬁﬂ@ﬁ 154 cm%’lﬂﬁﬁﬁ Gﬁﬂﬂﬁaﬁ{cmfﬁw
87

Options :

1. ® 156

5> % 157

3 @ 1585



Question Number : 95 Question Id : 7532296770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of three numbers, a, b and ¢, is 2 : 3 : 5 and the sum of their squares is 5472. What is the value of (a + ¢ — b)

?
Options :
1. % 44

7« 48

Question Number : 95 Question Id : 7532296770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI AT a, b 3R ¢ DI ST 2:3:5 § AR 39h T BN 5472 81 (a + ¢ — b) B HF J1d BITOT|
Options :
1% 4

2.« 48



Question Number : 96 Question Id : 7532296771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A bag contains notes only of 5, 210 and 220 denominations. The ratio of 25 notes and Z10 notes is 5 : 4, and the ratio

of 210 notes and ¥ 20 notes is 12 : 5. The total amount in the bag is 590. The number of 210 notes in the bag is:
Options :
1. ® 20

33"!"‘!

2.

3.« 24

Question Number : 96 Question Id : 7532296771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh ST H ohad 25, 210 3R 220 ea¥ & AIC &1 25 3R 210 o 7AICT BT UM 5:4 8 AR 210 3R 220 & ICi Bl
ST 12:5 5 | &7 H a MR 2500 8 | §71H 210 o6 AlC] &I T febaril g2

Options :

1. # 20

33"'!"'!

P

2.

3.« 24



Question Number : 97 Question Id : 7532296772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Six years ago, the ratio of the ages of Renu and Sunita was 6 : 5. After 3 years from now, the ratio of their ages will be 9
: 8. What is the sum of their present ages (in years)?
Options :
1w 42

2.¢ 45

3 % 48

Question Number : 97 Question Id : 7532296772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

€ TY Ugd. U] R G DI 31 BT 301d 6:5 AT 3d Y 3 94 91, 39! AT BT 44T 9:8 Bl ST | ID!
qAH g (@ H) BT g J1d ST

Options :

-

1 ® 42

2.« 45



Question Number : 98 Question Id : 7532296773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling an article for 1,038.40, Puneet incurs a loss of 12%. If he sells it for ¥1.209.50, then he will incur:
Options :

1. # alossof2.5%

) a gain of 2.5%
3 % alossof 5%

4 % againof 5%

Question Number : 98 Question Id : 7532296773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh 9% ! £1038.40 T &9 TR YA Bl 129 1 81 Bidil 8 | Tfe 98 38 21200.50 H &9l 5. 0l 34 8 ardl a1/
g1 1d HifTY |

Options :

-

I

5 @ 2.5%PTTY

4 % 5% PIAH



Question Number : 99 Question Id : 7532296774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suman incurs a loss of 30% when she sells an article at i of its selling price. If she sells it at 15% less than its actual
price, what will be her profit percentage?

Options :
1 % 20.4%

5 % 30.2%
3 % 40.6%

4.« 42.8%

Question Number : 99 Question Id : 7532296774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT &1 Udh O &1 34 [dehd Hed o = TR 9+ TR 30% ! g1+ 8idl 8 | Ul 98 3 34 aRdidd Jed 9 15%
H IR Sl 8, dl Wi W I il |

Options :
1 % 204

4@ 42.8



Question Number : 100 Question Id : 7532296775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selling price of an article is 576 when it is sold at a 20% profit. If the cost price of the article is decreased by Z30
and the selling price is decreased by 69.75, what will be the profit percentage?

Options :

1. % 11.5%

) o 12.5%
3 % 15%

4 % 16%

Question Number : 100 Question Id : 7532296775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U a%d Pl 20% ATH UR 99 O YR IYah] [AdhY HE 2576 © | UlE 9% o HY Yed H 230 &I H4I 8lcll 5 3R [dehy
Hed H 269.75 B HHI Il &, dl Ufd=Id o+ J1d S|

Options :

1. % 11.5

5 @ 12.5



Arithmetic Ability2

Group Number : 6

Group Id : 753229350
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 753229350
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229421
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532296776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper sells one kind of rice at 40 per kg and loses 20%, and sells another kind of rice at 260 per kg and gains

25%. He mixes them together in equal proportions and sells the mixture at 56 per kg. What is the gain percentage?



Options :
2
‘o
L 142%

15294

2. 7
10
ptary | |
b 1511 %

16 ;..
16—%
4. % 49

Question Number : 101 Question Id : 7532296776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GHIIGR Udh (e o a1ad bl 240 VR ke &1 & I 991 g AR 39 R 34 20% $1 8T Bl g, 3R T 4=
fare o =7aq I 260 T kg Bl &R Y G901 © AR TH W I 25% BT ATH BId1 8| 98 I8 GHIA Urd H e g
3R AU BT 256 U ke B S W 99T 8 | UAWIT @y 10 ST

Options :
2

14-9%

L

39
- 15? Yo

10
gk | |
w 1511 ;b

16 ..
16—"%o
4. % 49



Question Number : 102 Question Id : 7532296777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cost price of an item is T280. A man sells it at a 20% profit after giving a 25% discount on its marked price. What is
the marked price (in ¥) of the item?
Options :
1. % 428

7 # 425
3« 448

4 % 450

Question Number : 102 Question Id : 7532296777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uch 9% 1 ohd e 2280 ¢ | Ueh Al 54 U Hfdhd Tl R 25% Bl B G 20% A1 R 99l ¢ | 9% Bl
3ifdbd 5 (z H) faa g2

Options :

1 % 428

o # 425
3« 448

4 % 450



Question Number : 103 Question Id : 7532296778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A trader sells an article for 306 after giving two successive discounts of 15% and 20% on its marked price and suffers
a loss of 23.5%. If he does not give any discount, what will be the profit (in Z)?
Options :
1. #® 45

Question Number : 103 Question Id : 7532296778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AIRI TP 9xg Dl 3P 3ifohd G TR 15% 3R 20% &1 Gl HIHD FC & & §1G 2306 H 9901 & AR TR
3 23.5% 1 I Bl o | IS a8 Bls Be ol odl 6, af 39 g aren arH (z 7) J1d Hifo|

Options :

1. % 45




Question Number : 104 Question Id : 7532296779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum amounts to £10,120.50 in 3

Pad | =

T |
years and to 212,772.50 in 7 S years at the same rate per cent per annum at

simple interest in both the cases. The sum and the rate of interest are respectively:
Options :
1 % ¥7,500 and 9.5%

, % 7,600 and 9%
3 % %7700 and 9%

4 v ¥7.800 and 8.5%

Question Number : 104 Question Id : 7532296779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T SRR TR 0T <161 1 Ua AR uford aiffes R W 3 ; 99 # 9% 21012050 3R 72 q H GG
212772.50 BI oIl &, Gl ol feufod! § STl &% 99 Ygd! & | AR 3R &4719 &3 AR a1 il

Options :
| % %7500 3R 9.5%

5 % 7600 3R 99%

s % 27700 3R 9%



4 v 7800 X 8.5%

Question Number : 105 Question Id : 7532296780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the difference between the simple interest and the compound interest, compounded yearly, on a sum of 27,500

at 10% p.a. for 2 51 years (nearest to a rupee)?
Options :

1. & 150

2« T154

3 ® %158

4 % Z160

Question Number : 105 Question Id : 7532296780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

37500 BT 4RI TR 10% TTF & T 2, I8 & FIUR 161 IR THdfes S HI 3R 1 BTG, o7g! Thafe
TSl &1 AU Al dehdfa AHTUR R &1 oldl ¢ | (Mdbead T 1)

Options :
1. ®% 250

5 3154



3 % 158

4 % T160

Question Number : 106 Question Id : 7532296781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

; . 1 ” . . ;
A certain sum amounts to ¥12.644.50 n 2 S years at 12% p.a.. interest compounded 10-monthly. The sum (in ) is:

Options :
| % 8.000

, % 8.500
3 % 9.000

4 v 9.500

Question Number : 106 Question Id : 7532296781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh (RIS YFRITRI TR 1296 TTTYeh TS 1 X H 2.2 8 H UG % 212644.50 €, W81 SIS &1 TUMT 10 AR
Tsh gk MR TR DI OITcl &1 FRIR (2 H) J1d HIoT|

Options :
1. % 8000

» % 8500



3 % 9000

4 & 9500

Question Number : 107 Question Id : 7532296782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A loan has to be returned in two equal annual installments each of 216.820. If the rate of interest is
16% p.a.. compounded annually. then the total interest paid in this scheme is:

Options :
| % 36,580

5 % 6,560
3 v 6,640

4 % 6,840

Question Number : 107 Question Id : 7532296782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U FU1 Bl 216820 U &1 &l GHH alities (ol H Aoy fobar o1 g | afe a1 $1 &R 16% IS &, forge!
UM TN Teshgieg AR TR DI Il 8. 1 5 Ao # YT 631 7191 ol &A1 Jd Do

Options :

| % 26580

» % %6560



3 @ %6640

4 % F6840

Question Number : 108 Question Id : 7532296783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can complete a work in 24 days and 30 days, respectively. A alone completed 2 of the work and B alone
completed the remaining work. The whole work was completed in:
Options :

| = 25days

6 = days
2
3 % 27days

e days
4. 4

Question Number : 108 Question Id : 7532296783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TR B TH B DI HH: 24 T 3R 30 RAH TSRS A AU P& 2 TSI JUI HXAT© SR B 3cbel
Y B I gul Sl & | 91 B (e fee | gui g

Options :

1. #® Zﬁﬁ_’[



"rﬁi
2

3. % 27 f&
fes

I
-1
B | w

4. ¢

Question Number : 109 Question Id : 7532296784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: ; ; ; . i d - ;
For doing a certain work, the ratio of the efficiencies of A, B and C is SRy Working together, they can complete the

0| ek
b |

g Z & .
work in 6 days. A and C together can complete — part of the same work in:
13

Options :
| = 3days

,  4days

Question Number : 109 Question Id : 7532296784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



¥ B 1 3 & 1Y, A, B MR ¢ BT TefclAl T 701 2. 2.2 1 T W1 feiay 1 HXd §U. 3 I8 1 Bl
6 forT H QR PR UHA B A 3R ¢ TP 1Y e 38 S/ 1 HRT e foed 3 R X Tl @2

Options :

1. # 3%?

51 faq
® 2

3.

{%ﬁﬁ

4. %

Question Number : 110 Question Id : 7532296785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A man covers 250 km, 120 km and 50 km at 50 km/h, 40 km'h and x km/h, respectively. If his average speed for the

whole journey is 42 km/h, then what is the value of x ?
Options :
1. ® 20

2. 25

3 15



Question Number : 110 Question Id : 7532296785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 3TGHT 250 km, 120 km 3R 50 }{maﬁg 1, HHR: 50 km/h, 40 km/h 3R x km/h &1 I U 0 BT 6| ﬂﬁqgo[
g1 b SR 3D R F1el 42 kov'h 8, Tl x BT HA 1 HITC

Options :
1. ® 20

7 o 25

Question Number : 111 Question Id : 7532296786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The perimeter of a trapezium is 120 cm and the sum of its non-parallel sides is 36 cm. The area of the trapezium is 504

cm?. What is the distance between its parallel sides?
Options :

1. % 10cm

7 o« 12cm

3 % l4cm

4 % 18cm



Question Number : 111 Question Id : 7532296786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh U IGHS BT IRATT 120 cm € RSS! IR-GHMIR YST3H &1 AN 36 em ¢ | GHAS AqUSl & &6
504 cm? B| SHD! GHMICR Yol & &g &I 31 fdai g2

Options :
1. % 10cm

2 o 12 cm
3 % l4cm

4 % 18cm

Question Number : 112 Question Id : 7532296787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of levelling a circular plot at 230 per m? is 21.15.500. What will be the cost of fencing the plot at 56 per m?

(Take TI=2?—2}

Options :
| ® 11,880

5 % 212,100

3 v 212,320



4w T2,672

Question Number : 112 Question Id : 7532296787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

230 U m? B & Y Ush GO R YIS ol FHAA D1 &l ORI 2115500 8 | 256 Wil m P & T YEHS DI €18 T

aﬁﬂmwﬁﬁivi—z AH )

Options :
1. % L1880

, % 12100
3 v 212320
4 % Z12672

Question Number : 113 Question Id : 7532296788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sides of a rectangular garden are in the ratio of 5 : 3. Its area is equal to the area of a square field whose diagonal is

40+/30 m. The longer side of the rectangular garden is:
Options :
1. ®% 100m

> # 150 m

3 % 160 m



4.« 200m

Question Number : 113 Question Id : 7532296788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AR FId DI YST3H BT AT 5:3 8 | TTH &5 U TR HaH & S5 & SRI6R 8, [ordd [
@1 ddlg 40v/30 m 8| HAAIGR g $I Tall Yol &1 dalg J1d Bt |

Options :
1. % 100m

> # 150 m
3 #% 160 m

4.« 200m

Question Number : 114 Question Id : 7532296789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The perimeter of a rectangular field is 712 m and its length is 180 m. The perimeter of a circular field is equal to the

breadth of the rectangular field. What is the area (in m?) of the circular field?

(Take :rr=2?—2}

Options :
1. % 1386

5 % 1925



Question Number : 114 Question Id : 7532296789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HGAIDHR He BT URATT 712 m € 3R 59| UaTg 180 m 8| Uh GOIBR HaH &I URY, 59 bR JaH
P AT P SR | FABR HAM BT &AB (m? H) I BT (0= 2 A W)

Options :
1. % 1386

, % 1925
3 o 2464

4 % 3850

Question Number : 115 Question Id : 7532296790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. . . ) - " . 2 .
The surface area of a solid hemi-sphere is 1848 cm=. What is the volume (in em”: correct to one decimal place)?

(Take ir=2?—2}

Options :
1.« 5749.3



» % 7071.4
3 % 8182.8

4 % 11498.7

Question Number : 115 Question Id : 7532296790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 319 el &1 JETT &A% 1848 cm? 8 | SIS HTFT (em? H) ITd BT (T GXHTT R b GUTTichd) |
(=22 FH )

Options :
1.« 5749.3

» % 7071.4
3 % 8182.8

4 % 114987

Question Number : 116 Question Id : 7532296791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The diameter of the base of a right circular cone is 56 cm and its height is 45 em. What is its curved surface area (in

cm? )?

(Take ir=2?—2}



Options :
1 % 4488

» % 4576
3 4664
4 % 4752

Question Number : 116 Question Id : 7532296791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U Tie guilg U & AHTUR BT A 56 cm § AR SHDI HAIg 45 cm & | SHPI deb YEII &ABA (em? H) A iU
(=22 A )

Options :
1 % 4488

» % 4576
3 4664
4 % 4752

Question Number : 117 Question Id : 7532296792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The height of a cylindrical cup is 9 cm and the diameter of its base is 14 cm. It is full of water. Water of this cup is
poured into an empty conical cup of base radius 10.5 cm. The height (in cm) to which the water will rise in the conical
cup is (assuming no overflow):
Options :
1. % 6cm

) ® Tcm
3 % 10.5cm

4.+ 12cm

Question Number : 117 Question Id : 7532296792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 6cm

) # 7cm
3. % 10.5cm

4.+« 12cm

Question Number : 118 Question Id : 7532296793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The number of teachers, gender-wise, in institutes A, B, C and D and the percentage of PhDs (those having a PhD

degree among them) are shown in the following table.

Males Females
Institutes | No. of | Percentage | No. of | Percentage

Teachers | of PhDs teachers | of

PhDs
A 250 28 280 80
B 300 3 250 20
C 180 40 200 48
D 240 35 160 45

What is the ratio of the total number of non-PhD female teachers in institutes A and C to the total number of PhD male

teachers in institutes B and D?
Options :

-

1% 2:3

y ®% 7:8

Question Number : 118 Question Id : 7532296793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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D 240 35 160 45
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Options :

1. ® 23

Question Number : 119 Question Id : 7532296794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The number of teachers, gender-wise, in institutes A, B, C and D and the percentage of PhDs (those having a PhD

degree among them) are shown in the following table.

Males Females
Institutes | No. of | Percentage | No. of | Percentage

Teachers | of PhDs teachers | of

PhDs
A 250 28 280 80
B 300 32 250 20
C 180 40 200 48
D 240 35 160 45

The average number of PhD female teachers in institutes C and D is what percentage of the number of male teachers in
institute B?
Options :

| % 35%

5 & 28%

Question Number : 119 Question Id : 7532296794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A 250 28 280 80
B 300 32 250 20
C 180 40 200 48
D 240 35 160 45
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Options :

1. % 35

7 « 28
3 % 30

4 % 336

Question Number : 120 Question Id : 7532296795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The number of teachers, gender-wise, in institutes A, B, C and D and the percentage of PhDs (those having a PhD

degree among them) are shown in the following table.

Males Females
Institutes | No. of | Percentage | No. of | Percentage
Teachers | of PhDs teachers | of
PhDs
A 250 28 280 g0
B 300 32 250 20
€ 180 40 200 48
D 240 33 160 45

The percentage of non-PhD teachers in institute D is:
Options :
1. % 39%

5 % 60%

(O8]
e
LN
s}
Ln

=}
o

4 & 61%

Question Number : 120 Question Id : 7532296795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A 250 28 280 80

B 300 32 250 20

c 180 40 200 48

D 240 35 160 45
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Options :
1 ® 39

) # 60
3 ® 585

4.¢ 61

General English1
Group Number : 7

Group Id : 753229351
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 753229351

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229422

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532296796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The teacher asked all the students to listen carefully the reading of the poem.
Options :

1. * at

2. ¥ to

3. * from

4. % on



Question Number : 121 Question Id : 7532296796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The teacher asked all the students to listen carefully the reading of the poem.
Options :

1. * at

2. ¥ to

3. % from

4. % on

Question Number : 122 Question Id : 7532296797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The child asked for the blue balloon which was tied a string.
Options :

1. * from

2. % in

3. % through

4. ¥ with

Question Number : 122 Question Id : 7532296797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The child asked for the blue balloon which was tied a string.
Options :
1. # from

2. % In



3. % through
4. ¥ with

Question Number : 123 Question Id : 7532296798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Have you already ~ your work?
Options :

1. #® did

2. % do

3. % done

4. % does

Question Number : 123 Question Id : 7532296798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Have you already  your work?
Options :

1. % did

2. % do

3. ¥ done

4. % does

Question Number : 124 Question Id : 7532296799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

my word, this plan will not be successful!



Options :

1. ¥ Mark

2. # Marked
3. ¥ Marking
4. ¥ Marks

Question Number : 124 Question Id : 7532296799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

my word, this plan will not be successful!
Options :
1. ¥ Mark
2. % Marked
3. % Marking
4. ® Marks

Question Number : 125 Question Id : 7532296800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In the accident on the Ring Road there was a damaged car.
Options :

1. #* poorly

2. % grimly

3. * mostly

4. ¥ badly

Question Number : 125 Question Id : 7532296800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

In the accident on the Ring Road there was a damaged car.
Options :

1. # poorly

2. % grimly

3. % mostly

4. % badly

Question Number : 126 Question Id : 7532296801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There no electricity for about two hours tomorrow from 10.30 am to 12.30 pm.
Options :

1. ¥ will be

2. * had been

3. % was

4. % have been

Question Number : 126 Question Id : 7532296801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There no electricity for about two hours tomorrow from 10.30 am to 12.30 pm.
Options :

1. ¥ will be

2. % had been

3. % was

4. % have been



Question Number : 127 Question Id : 7532296802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The thief up the narrow staircase when the police there.
Options :

1. # has already climb, arrive

2. # have already climbed, arrived

3. % had already climbed, arrived

4. # is already climbing, arriving

Question Number : 127 Question Id : 7532296802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The thief up the narrow staircase when the police there.

Options :

1. # has already climb, arrive

2. # have already climbed, arrived
3. % had already climbed, arrived

4. # is already climbing, arriving

Question Number : 128 Question Id : 7532296803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Vikas is a good chef, he delicious cakes.
Options :
1. # is baking

2. ¥ bakes



3. * have baked
4. % has been bake

Question Number : 128 Question Id : 7532296803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Vikas is a good chef, he delicious cakes.

Options :

1. # is baking

2. ¥ bakes

3. * have baked
4. % has been bake

Question Number : 129 Question Id : 7532296804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This is most popular grocery shop in our neighbourhood.
Options :

1. ¥ the

2. % a

3. % an

4. % one

Question Number : 129 Question Id : 7532296804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This is most popular grocery shop in our neighbourhood.



Options :
1. ¥ the
2. % a
3. % an

4. *# one

Question Number : 130 Question Id : 7532296805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

What unusual colour in shoes!

Options :
1. * a
2. % the
3. an

4. % no article

Question Number : 130 Question Id : 7532296805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

What unusual colour in shoes!

Options :
I.* a
2. % the
3.% an

4. % no article

Question Number : 131 Question Id : 7532296806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct active form of the given sentence.

Sudhir was looked after by his son and daughter- in- law.
Options :

1. # His son and daughter- in- law are looking after Sudhir.
2. # His son and daughter- in- law are looked after by Sudhir.
3. # His son and daughter- in- law looks after Sudhir.

4. ¥ His son and daughter- in- law looked after Sudhir.

Question Number : 131 Question Id : 7532296806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active form of the given sentence.

Sudhir was looked after by his son and daughter- in- law.
Options :

1. # His son and daughter- in- law are looking after Sudhir.
2. # His son and daughter- in- law are looked after by Sudhir.
3. % His son and daughter- in- law looks after Sudhir.

4. ¥ His son and daughter- in- law looked after Sudhir.

Question Number : 132 Question Id : 7532296807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive form of the given sentence.

They told the members to cast their online vote between 10.30 am and 5 pm on the voting day.
Options :

1. ® Members are telling to cast their online vote between 10.30 am and 5 pm on the voting day.
2. ¥ Members were told to cast their online vote between 10.30 am and 5 pm on the voting day.
3. ® Members told them to cast their online vote between 10.30 am and 5 pm on the voting day.

4. ® Members are being told to cast their online vote between 10.30 am and 5 pm on the voting day.



Question Number : 132 Question Id : 7532296807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive form of the given sentence.

They told the members to cast their online vote between 10.30 am and 5 pm on the voting day.
Options :

1. ® Members are telling to cast their online vote between 10.30 am and 5 pm on the voting day.
2. ¥ Members were told to cast their online vote between 10.30 am and 5 pm on the voting day.
3. ¥ Members told them to cast their online vote between 10.30 am and 5 pm on the voting day.

4. ¥ Members are being told to cast their online vote between 10.30 am and 5 pm on the voting day.

Question Number : 133 Question Id : 7532296808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

At night I wish people would turn the volume of their TV sets.
Options :

1. % out

2. % away

3. ¥ down

4. ® of

Question Number : 133 Question Id : 7532296808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

At night I wish people would turn the volume of their TV sets.
Options :
1. # out

2. % away



3. ¥ down
4. % of

Question Number : 134 Question Id : 7532296809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Marching the rhythm of the band makes me feel a sense of patriotism.
Options :

1. # at

2. % for

3. % in

4. ¥ to

Question Number : 134 Question Id : 7532296809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Marching the rhythm of the band makes me feel a sense of patriotism.
Options :

1. % at

2. % for

3. % in

4.9 to

Question Number : 135 Question Id : 7532296810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. * On International womens’ day the college organized a health camp for women.



2. # On International woman’s day the college organized a health camp for women’s.
3. % On International Women’s Day, the college organized a health camp for women.

4. # On international woman’s day the college organized a health camp for women?

Question Number : 135 Question Id : 7532296810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. #® On International womens’ day the college organized a health camp for women.
2. % On International woman’s day the college organized a health camp for women’s.
3. % On International Women’s Day, the college organized a health camp for women.

4. ® On international woman’s day the college organized a health camp for women?

Question Number : 136 Question Id : 7532296811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. ® Is this the picture, which you bought at the sale!

2. % These days’ people find it difficult to manage their day to day work, without a mobile phone.
3. ¥ Having heard about the beauty of France, I am keen to visit it.

4. ® Making pancakes, is quite easy if you have the right ingredients?

Question Number : 136 Question Id : 7532296811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. # Is this the picture, which you bought at the sale!

2. # These days’ people find it difficult to manage their day to day work, without a mobile phone.
3. ¥ Having heard about the beauty of France, I am keen to visit it.



4. % Making pancakes, is quite easy if you have the right ingredients?

Question Number : 137 Question Id : 7532296812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate direct form of the given sentence.

The Mehras told Roopa that they had lived in Delhi for five years before moving to Mumbai.

Options :

1. # The Mehras said to Roopa, “They were living in Delhi for five years before moving to Mumbai.”
2. % The Mehras have said to Roopa, “She had lived in Delhi for five years before moving to Mumbai.”
3. # The Mebhras told to Roopa, “Have you lived in Delhi for five years before living in Mumbai?”

4. ¥ The Mehras said to Roopa, “We lived in Delhi for five years before moving to Mumbai.”

Question Number : 137 Question Id : 7532296812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate direct form of the given sentence.

The Mehras told Roopa that they had lived in Delhi for five years before moving to Mumbai.

Options :

1. ® The Mehras said to Roopa, “They were living in Delhi for five years before moving to Mumbai.”
2. % The Mehras have said to Roopa, “She had lived in Delhi for five years before moving to Mumbai.”
3. # The Mehras told to Roopa, “Have you lived in Delhi for five years before living in Mumbai?”

4. ¥ The Mehras said to Roopa, “We lived in Delhi for five years before moving to Mumbai.”

Question Number : 138 Question Id : 7532296813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank. Select the word which has a positive connotation.

I was skeptical about using the robot cleaner, but my got the better of me, so I decided to give it a try.
Options :



1. * meddling
2. # prying
3. ¥ curiosity

4. # snooping

Question Number : 138 Question Id : 7532296813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank. Select the word which has a positive connotation.

I was skeptical about using the robot cleaner, but my got the better of me, so I decided to give it a try.
Options :

1. #* meddling

2. % prying

3. ¥ curiosity

4. % snooping

Question Number : 139 Question Id : 7532296814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that denotes the meaning of the underlined word in the given sentence.

The lawyer was unyielding in his arguments against the accused.
Options :

1. % brave

2. # calm

3. % grim

4. ¥ firm

Question Number : 139 Question Id : 7532296814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that denotes the meaning of the underlined word in the given sentence.



The lawyer was unyielding in his arguments against the accused.
Options :

1. % brave

2. % calm

3. % grim

4. ¥ firm

Question Number : 140 Question Id : 7532296815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

13

, can’t you see that there are more people coming into the hall?
Options :

1. # Make gap

2. # Leave way

3. # Give road

4. ¥ Make room

Question Number : 140 Question Id : 7532296815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

(13

, can’t you see that there are more people coming into the hall?
Options :

1. # Make gap

2. % Leave way

3. # Give road

4. % Make room
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Question Number : 141 Question Id : 7532296816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate words/phrase to fill in the blank.

Looking at the faces of the students, the teacher that they had not understood the concept .
Options :

1. ¥ got the impression



2. * felt the sense
3. # knew the substance

4. # detected the meaning

Question Number : 141 Question Id : 7532296816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate words/phrase to fill in the blank.

Looking at the faces of the students, the teacher that they had not understood the concept .

Options :

1. ¥ got the impression
2. # felt the sense

3. # knew the substance

4. % detected the meaning

Question Number : 142 Question Id : 7532296817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

COMPOSE
Options :
1. ¥ raze
2. # build
3. % collect
4. #® form

Question Number : 142 Question Id : 7532296817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.



COMPOSE
Options :
1. ¥ raze
2. # build
3. % collect
4. #® form

Question Number : 143 Question Id : 7532296818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

DEFEAT
Options :

1. # loss

2. ¥ victory
3. # injury
4. ¥ harm

Question Number : 143 Question Id : 7532296818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

DEFEAT
Options :

1. # loss

2. ¥ victory
3. # injury
4. # harm

Question Number : 144 Question Id : 7532296819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

ALLY
Options :

1. # rival

2. # fan

3. % associate

4. % follower

Question Number : 144 Question Id : 7532296819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

ALLY
Options :

1. # rival

2. % fan

3. % associate

4. % follower

Question Number : 145 Question Id : 7532296820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The to the next camp will take eight hours, but we need the of the commander before we move ahead.
Options :

1. * assent, ascent

2. ¥ ascent, assent

3. * accent, ascent

4. # ascent, accent



Question Number : 145 Question Id : 7532296820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The to the next camp will take eight hours, but we need the of the commander before we move ahead.
Options :

1. #® assent, ascent

2. ¥ ascent, assent

3. % accent, ascent

4. # ascent, accent

Question Number : 146 Question Id : 7532296821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Every cloud has a silver lining

Options :

1. % Every time there are clouds there will be lightning
2. ¥ Every negative occurrence has a positive aspect to it
3. # Every pleasant thing is followed by bad luck

4. # Everything that one tries to do is difficult at first

Question Number : 146 Question Id : 7532296821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Every cloud has a silver lining
Options :

1. % Every time there are clouds there will be lightning



2. ¥ Every negative occurrence has a positive aspect to it
3. % Every pleasant thing is followed by bad luck
4. ® Everything that one tries to do is difficult at first

Question Number : 147 Question Id : 7532296822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Up in arms

Options :

1. # Being supported by someone all the time

2. % To be very energetic while doing one’s work
3. # Be ready to take up challenges

4. ¥ Being grumpy or angry about something

Question Number : 147 Question Id : 7532296822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Up in arms

Options :

1. # Being supported by someone all the time

2. % To be very energetic while doing one’s work
3. # Be ready to take up challenges

4. ¥ Being grumpy or angry about something

Question Number : 148 Question Id : 7532296823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.



Options :

1. ¥ corpration
2. % employed
3. % survey
4. # literacy

Question Number : 148 Question Id : 7532296823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

Options :

1. ¥ corpration
2. # employed
3. % survey

4. # literacy

Question Number : 149 Question Id : 7532296824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

The 48 boat passengers who were reported missing after the collision with another vessle were rescued.
Options :

1. # passengers

2. % collision

3. ¥ vessle

4. % rescued

Question Number : 149 Question Id : 7532296824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

The 48 boat passengers who were reported missing after the collision with another vessle were rescued.

Options :

1. # passengers
2. # collision
3. ¥ vessle

4. % rescued

Question Number : 150 Question Id : 7532296825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

The parents strongly condemned the disciplinary action taken by the school authorites.

Options :

1. # strongly

2. % condemned
3. % disciplinary
4. ¥ authorites

Question Number : 150 Question Id : 7532296825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

The parents strongly condemned the disciplinary action taken by the school authorites.

Options :

1. # strongly

2. % condemned
3. # disciplinary
4. ¥ authorites



Question Number : 151 Question Id : 7532296826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence that is grammatically correct.
Options :

1. ® The boys please ask less noise to make

2. ® To make less noise please ask the boys

3. ¥ Please ask the boys to make less noise

4. ® Less noise to make the boys please ask

Question Number : 151 Question Id : 7532296826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence that is grammatically correct.
Options :

1. # The boys please ask less noise to make

2. % To make less noise please ask the boys

3. ¥ Please ask the boys to make less noise

4. % Less noise to make the boys please ask

Question Number : 152 Question Id : 7532296827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option in which the parts of the sentence are grammatical and meaningful order.
Options :

1. #® To win against their popular opponents for the team was one of the biggest challenges.
2. ® Their popular opponents for the team was one of the biggest challenges to win against.
3. ¥ One of the biggest challenges for the team was to win against their popular opponents.

4. ® The biggest challenges for one of the team against their popular opponents was to win.

Question Number : 152 Question Id : 7532296827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option in which the parts of the sentence are grammatical and meaningful order.
Options :

1. # To win against their popular opponents for the team was one of the biggest challenges.
2. # Their popular opponents for the team was one of the biggest challenges to win against.
3. ¥ One of the biggest challenges for the team was to win against their popular opponents.

4. ® The biggest challenges for one of the team against their popular opponents was to win.

Question Number : 153 Question Id : 7532296828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

Chlorophyll gives plants their green colour and helps them to make their food through a called photosynthesis.
Options :

1. ¥ process

2. % manner

3. % way

4. % device

Question Number : 153 Question Id : 7532296828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

Chlorophyll gives plants their green colour and helps them to make their food through a called photosynthesis.
Options :

1. ¥ process

2. % manner

3. ® way

4. ® device



Question Number : 154 Question Id : 7532296829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

of the city.

The prices of the flats constructed by the developers were considered to be too high as they were located on the
Options :

1. # limits

2. # edges

3. % outskirts

4. % margins

Question Number : 154 Question Id : 7532296829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

The prices of the flats constructed by the developers were considered to be too high as they were located on the of the city.
Options :

1. # limits

2. % edges

3. ¥ outskirts

4. % margins

Question Number : 155 Question Id : 7532296830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

The buyers of properties today are to issues related to the environment as they are of the advantages of living in a community
that is in harmony with nature.

Options :
1. *® sensible, attentive

2. ¥ sensitive, aware



3. #* sensible, alert

4. ® sensitive, familiar

Question Number : 155 Question Id : 7532296830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

The buyers of properties today are to issues related to the environment as they are of the advantages of living in a community
that is in harmony with nature.

Options :

1. * sensible, attentive
2. ¥ sensitive, aware
3. #® sensible, alert

4. ® sensitive, familiar

Sub-Section Number : 2
Sub-Section Id : 753229424
Question Shuffling Allowed : Yes

Question Id : 7532296831 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the questions given after it.

A company is a legal entity formed by a group of individuals to engage in and operate a business—commercial or industrial enterprise. A
company may be organized in various ways for tax and financial liability purposes depending on the corporate law of its jurisdiction.

The line of business the company is in will generally determine which business structure it chooses such as a partnership, proprietorship, or
corporation. These structures also denote the ownership structure of the company.

They can also be distinguished between private and public companies. Both have different ownership structures, regulations, and financial
reporting requirements.

A company is essentially an artificial person—also known as corporate personhood—in that it is an entity separate from the individuals who
own, manage, and support its operations. Companies are generally formed to earn a profit from business activities, though some may be
structured as nonprofit charities. Each country has its own hierarchy of company and corporate structures, though with many similarities.
The first company in the world to issue stock was the Dutch East India Company. It was created in the Dutch Republic by the government to
trade with India.



A company has many of the same legal rights and responsibilities as a person does, like the ability to enter into contracts, the right to sue (or be
sued), borrow money, pay taxes, own assets, and hire employees.

The benefits of starting a company include income diversification, a strong correlation between effort and reward, creative freedom, and
flexibility. Another advantage of companies is that they create jobs. If an individual starts a company and it grows, most often they have to hire
employees. This increases the number of jobs available in a nation, employs people, reduces unemployment, and brings wealth into the economy.
There is often a tremendous amount of personal satisfaction garnered from starting your own company. This involves following your dreams and
passions and leaving a legacy.

The disadvantages of starting a company include increased financial responsibility, increased legal liability, long hours, health risks due to stress,
responsibility for employees and administrative staff, regulations, and tax issues.

There is a tremendous amount of risk in starting a company, from the time invested and, therefore, opportunity cost from not working in a
salaried job, to financial risk. Failure is of course one of the biggest disadvantages; however, many successful entrepreneurs attest that their first
businesses failed and that the experience was an important learning tool.

Many of the world's largest personal fortunes have been amassed by people who have started their own companies.

Sub questions

Question Number : 156 Question Id : 7532296832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of company structure does the passage NOT mention?
Options :

1. #¥ Partnership

2. % Proprietorship

3. % Corporation

4. % Multinational

Question Number : 157 Question Id : 7532296833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main purpose of starting a company?
Options :

1. # to have a separate entity

2. ¥ to earn profits

3. % to take financial risks

4. # to gain legal rights



Question Number : 158 Question Id : 7532296834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘opportunity cost’ mentioned in the passage refers to
Options :

1. ¢ the loss of value due to giving up a salary-paying job
2. # missing a good chance to make profits from sales

3. % being unable to export the goods one has manufactured

4. % having to pay heavy taxes on products one has created

Question Number : 159 Question Id : 7532296835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The chief benefit of companies towards nation building is that they
Options :

1. # create a hierarchy

2. % provide personal satisfaction

3. ¥ create employment

4. % reduce tax liability

Question Number : 160 Question Id : 7532296836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true according to the passage?

Options :

1. # An entrepreneur can recover from a failed business later.

2. ¥ The corporate structures of different countries are totally dissimilar.

3. # Personal satisfaction of launching a company comes from pursuing one’s dreams.

4. % All companies are not structured as profit ventures.

Question Id : 7532296831 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)



Read the following passage and answer the questions given after it.

A company is a legal entity formed by a group of individuals to engage in and operate a business—commercial or industrial enterprise. A
company may be organized in various ways for tax and financial liability purposes depending on the corporate law of its jurisdiction.

The line of business the company is in will generally determine which business structure it chooses such as a partnership, proprietorship, or
corporation. These structures also denote the ownership structure of the company.

They can also be distinguished between private and public companies. Both have different ownership structures, regulations, and financial
reporting requirements.

A company is essentially an artificial person—also known as corporate personhood—in that it is an entity separate from the individuals who
own, manage, and support its operations. Companies are generally formed to earn a profit from business activities, though some may be
structured as nonprofit charities. Each country has its own hierarchy of company and corporate structures, though with many similarities.

The first company in the world to issue stock was the Dutch East India Company. It was created in the Dutch Republic by the government to
trade with India.

A company has many of the same legal rights and responsibilities as a person does, like the ability to enter into contracts, the right to sue (or be
sued), borrow money, pay taxes, own assets, and hire employees.

The benefits of starting a company include income diversification, a strong correlation between effort and reward, creative freedom, and
flexibility. Another advantage of companies is that they create jobs. If an individual starts a company and it grows, most often they have to hire
employees. This increases the number of jobs available in a nation, employs people, reduces unemployment, and brings wealth into the economy.
There is often a tremendous amount of personal satisfaction garnered from starting your own company. This involves following your dreams and
passions and leaving a legacy.

The disadvantages of starting a company include increased financial responsibility, increased legal liability, long hours, health risks due to stress,
responsibility for employees and administrative staff, regulations, and tax issues.

There is a tremendous amount of risk in starting a company, from the time invested and, therefore, opportunity cost from not working in a
salaried job, to financial risk. Failure is of course one of the biggest disadvantages; however, many successful entrepreneurs attest that their first
businesses failed and that the experience was an important learning tool.

Many of the world's largest personal fortunes have been amassed by people who have started their own companies.

Sub questions

Question Number : 156 Question Id : 7532296832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of company structure does the passage NOT mention?
Options :

1. % Partnership

2. % Proprietorship

3. % Corporation

4. ¥ Multinational



Question Number : 157 Question Id : 7532296833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main purpose of starting a company?
Options :

1. * to have a separate entity

2. % to earn profits

3. % to take financial risks

4. # to gain legal rights

Question Number : 158 Question Id : 7532296834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘opportunity cost’ mentioned in the passage refers to
Options :

1. ¥ the loss of value due to giving up a salary-paying job
2. % missing a good chance to make profits from sales

3. # being unable to export the goods one has manufactured

4. % having to pay heavy taxes on products one has created

Question Number : 159 Question Id : 7532296835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The chief benefit of companies towards nation building is that they
Options :

1. # create a hierarchy

2. % provide personal satisfaction

3. ¥ create employment

4. # reduce tax liability

Question Number : 160 Question Id : 7532296836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is NOT true according to the passage?

Options :

1. ¥ An entrepreneur can recover from a failed business later.

2. % The corporate structures of different countries are totally dissimilar.

3. # Personal satisfaction of launching a company comes from pursuing one’s dreams.

4. % All companies are not structured as profit ventures.
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Question Number : 161 Question Id : 7532296837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X P UHR &1 SIS Y §?
Options :

1. % TSI

2. % fauri®

3. % faRIygs

4. ¥ URUTHCRID

Question Number : 161 Question Id : 7532296837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y {5 e UbR 1 FTS 4D 3fo0d 82
Options :

1. % GUNH

2. % fqurid

3. % foRIyCRIS

4. ¢ ORUMHGRI®

Question Number : 162 Question Id : 7532296838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“qg 31T 3T BT a1 > I & UG ‘BT’ DI A HRSD 62
Options :

1. % o

2. % gUqH

3. ¢ gdy

4. % 3ffHOT



Question Number : 162 Question Id : 7532296838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qg 3T 3 P Tl > I T T ‘P’ DI A HRP 62
Options :

1. % &

2. % guaH™

3. ¢ gdy

4. % 3D

Question Number : 163 Question Id : 7532296839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhfaq ford TR &1 uRmTuars fosar faRm g2
Options :

1. % SffYDpdaiys

2. ¢ SIS

3. % gYifteiysd

4. % qaEIUD

Question Number : 163 Question Id : 7532296839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhfaq ford TR &1 uRATERS fohar faRem g2
Options :

1. ® 3ffdpdrares

Question Number : 164 Question Id : 7532296840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AHR* g UHR BT fa=wor g2
Options :

1. ¢ TUAr®

2. % AT

3. % gRATUEIYS

4. % gD

Question Number : 164 Question Id : 7532296840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ADR v THR &1 faRor g2
Options :

1. ¢ TUIdTdh

2. % QARG

3. % URHATUEYS

4. % QNS

Question Number : 165 Question Id : 7532296841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TA@ {6y UHR &1 71 62

Options :

1. % Sfqdrd

2. % Wflfddred

3. ¢ YH[dd[dh

4, % JHgdlddh

Question Number : 165 Question Id : 7532296841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TA@ oy UHR &1 71 62

Options :

1. % Sfqdrd

2. % Wflfddred

3. ¢ YH[dd[dh

4, % JHgdlddh

Question Number : 166 Question Id : 7532296842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & 9 oF 91 faded 9ad & U 3R I9d 3aTerul i 2 J gafad g2
Options :

1. % fyoaras - o

2. ¢ yTdE® - U8

3. ¥ JYdddh — P

4. % IS — DM

Question Number : 166 Question Id : 7532296842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad o @ & 91 fadhed Tdm & 0g 3R SUP 3160l &I 2P I FAfd g2
Options :

1. % foiarea® - o

2. ¢ FygaEs - U8

3. % UYardd - S

4. % JHFAYTARID - B

Question Number : 167 Question Id : 7532296843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TR BT g1 WiY-fawda &-
Options :

1. JH+9Hq

2. % gH+gH

3. * g+ YH

4, # g4+ Y9H

Question Number : 167 Question Id : 7532296843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
w1 Ig Ao B-

Options :

1. ¥ JH+9H

2. ¥ gH+9H

3. ¥ I+ 9H

4. % JI+9H

Question Number : 168 Question Id : 7532296844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qfam & o I 9 3o

Options :

1. % 07 TR Y

2. % gig WR Y

3. ¢ 3T TR iy

4. % QUL TR Y

Question Number : 168 Question Id : 7532296844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfes & i W Tl g2



Options :

1. % T[0T TR Y

2. % gfg R Y
3. ¢ 31(C TR iy
4. % JUITR Y

Question Number : 169 Question Id : 7532296845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIE DT FHY-[GUE G-
Options :

1. % TR Y e

2. % RH A

3. % W g 3refiA

4. v WP Y

Question Number : 169 Question Id : 7532296845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIE T GHTY-9UE G-
Options :

1. % Y e

2. % RH A

3. % IR fo1T oidiH

4. WP YA

Question Number : 170 Question Id : 7532296846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTHBTS T DI T JHY 2
Options :




1. % g1
2. ¥ 58

3. % ddey
4. % Yl Yd

Question Number : 170 Question Id : 7532296846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIHBTST H DI I A g2
Options :

1. % fg

2.¥ 48

3. % TGy

4. % 3yl Wrd

Question Number : 171 Question Id : 7532296847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S getyd deT At T & W T o1t A o offg SR 98 SIS a9 318 |° Ufad & &I 1 3ddR /2
Options :

1. ¢ Y

2. % JHD

3. ¥ xUp

4. % qeplfck]

Question Number : 171 Question Id : 7532296847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sl g et O TRaes & Wi I SRt g F S a9 a8 TS SR ofs | Ufad & H 91 SddR g2
Options :

1. v Y




2. % gD
3. % BB
4. % gehifad

Question Number : 172 Question Id : 7532296848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafaa & § o a1 fdeer Ien &1 W T8 82
Options :

1. % JXIHIET

2. % gdlan

3. % Thellclal

4. TICISIET

Question Number : 172 Question Id : 7532296848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafiRad & O o1 91 fdeed Idien &1 9 T8 82

Question Number : 173 Question Id : 7532296849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R 1 yafard T 3

Options :

1. ® g9

2. ¥ RR



3. % guT
4. % IS

Question Number : 173 Question Id : 7532296849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 1 TaigaT TET 8-

Options :

1. % HY9

2. ¥ XR

3. % JYHI

4. % 3ffd

Question Number : 174 Question Id : 7532296850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 1 3% TR BIell-

Options :

1. % &g

2. 1Y

3. % gHid

4. % URHTAT

Question Number : 174 Question Id : 7532296850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 1 3% &I BIell-

Options :

1. % g

2. v Y

3. % gHidl



4. % UIHTHT

Question Number : 175 Question Id : 7532296851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“4RT — YRT* VoG JH P ol 312 -
Options :

1. ¢ gl - UdTg

2. % Udrg - gl

3. % Rl Ad

4. % Udd - ydrg

Question Number : 175 Question Id : 7532296851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“¢RT — YR Ve T BT ol 37 B-
Options :

1. ¢ Gl - yarg

2. % Udlg - geal

3. % Rl - Al

4. % Udd - ydig

Question Number : 176 Question Id : 7532296852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“SiTeT - ShTell” 31 o fo A wrea &-
Options :

1. % 99 -dg

2. % g -dYg

3. % 39494

4, ¢ 39 -9



Question Number : 176 Question Id : 7532296852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS — STl 31 & ol THYd W< -
Options :

1. * 9 -dg

2. # -9

3. ¥ g9-d41

4. % dq-dY

Question Number : 177 Question Id : 7532296853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BN BT FAARIT g B-

Options :

1. % 3l

2. % iy

3. ¢ X

4. % DT

Question Number : 177 Question Id : 7532296853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BN BT FEFTT 2eg B-

Options :

1. % 3

2. % iy

3. ¢ R

4. % IR



Question Number : 178 Question Id : 7532296854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ga A B 31 & oy et geTaRT 19 A1 62

Options :

1. % IR A Hedl TR o1
2. ¢ W IRE BT

3. % pAdR U g

4. % el

Question Number : 178 Question Id : 7532296854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[ A AT 31 & fore e ekt HiH A e

Options :

1. % TR ¥ Ogc! A do1
2.« QY IRE BT

3. % ol HUIT BT

4. % B S

Question Number : 179 Question Id : 7532296855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U NP IS T Aol &1 el ol &
Options :

I ® TRRARE

2. % TRR RA FHTReEH 8

3. ¢ TRR g A B ot grm

4. % IRING AT AT §

Question Number : 179 Question Id : 7532296855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AW WP <8 T dopifod 1 TET 3 8-
Options :

1. % TRRTRE

2. % YRR RA BT RSH §

3. ¢ R A ®Y o grm

4. % RIS TIH TP §

Question Number : 180 Question Id : 7532296856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e g ferdt et St B 1° are & b o H g Y Srgfie 22
Options :

1. % fg=dt Hrw

2. ¢ SaARRY ferdt

3. % o fordl

4. % S5

Question Number : 180 Question Id : 7532296856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=<t Yo TR ferdt o ferelt ot B 17 arem & fopy it A I+t b il B2
Options :

1. % fg=dl v

2. ¢ SR ferdt

3. % o forgt

4. % S G

General Hindi2



Group Number : 10

Group Id : 753229354

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 753229354

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229426

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532296857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T o 8141 H <= Rwsd g I I & [ 31 & a1 &1 Srfs 82

Options :

1. % YR 1
2. % & gIUl
3. % Hag



4. ¥ RBA G

Question Number : 181 Question Id : 7532296857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T & 814 7 SR R g 1 a1 & oo o & e+ ot orgfs B2
Options :

1. % YR I

2. % o gIl

3. % Haw

4. RFBARI

Question Number : 182 Question Id : 7532296858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffed & & o 91 Weg T8 87
Options :

1. ¥ qd

2. % Yq

3. % dd

4. % Sty

Question Number : 182 Question Id : 7532296858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o & &F 91 Weg dd 82
Options :

1. ¥ ad

2. % Yq

3. % qd

4. % Sty




Question Number : 183 Question Id : 7532296859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofoiRad & 9 31 91 Weg dhgd 82
Options :

1. % qHT

2. % dlush

3. ¢ qddl

4. % gy

Question Number : 183 Question Id : 7532296859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 S 91 e e d 87
Options :

1. % QH-

2. % Uk

3. ¢ qddl

4. % gy

Question Number : 184 Question Id : 7532296860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dls A N H S| T BT A & -
Options :

1. % G gdHH

2. % GH Hidw

3. % FHTG HidH

4. ¥ BdoqHg Hidw



Question Number : 184 Question Id : 7532296860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“BIs 3 Al H 9IS |* I BT B & -
Options :

1. % G 9HH

2. % GHH Hidw

3. % YT Hide

4. ¥ BdoqHg Hid™

Question Number : 185 Question Id : 7532296861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
b e 8 1° a9 H1 H1d 8-
Options :

1. % gfewy yd

2.9 A Hd

3. % {MHE Yd

4. % FHAI gIqH

Question Number : 185 Question Id : 7532296861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I FHar g1’ a1e &1 H1d 6-
Options :

1. % Higw yd

2.9 A Yd

3. % gAY Yd

4, % HIHY qdHH

Question Number : 186 Question Id : 7532296862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

a9f g1 T 2 1’ 9T BT BTl &
Options :

1. ¢ dlcpIfeid adar

2. % A gdd

3. % guf gddE

4. % JYTT gdq™

Question Number : 186 Question Id : 7532296862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iu1 B X1 5 1 AT BT BT &-
Options :

1. ¢ AThIferd g

2. % HH I

3. % Ul gqH

4. % JUT IAHH

Question Number : 187 Question Id : 7532296863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied o 9 & a1 agd iy areg 82

Options :

1. % HETHT < PI ATH S a1el A g |

2. % 98 U™ g 3YOTE 39 HETe §G &1 91 g1 5

3. ¢ 98 B 1 7™ B, o HeTel1 §5 &1 A1 9 1 81
4, % TIAT §g 1 A8 I I A AT gRT |

Question Number : 187 Question Id : 7532296863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafoied o @ & a1 argd iy area 82

Options :

1. % HETHT < P ATH S a1el A 5|

2. % 98 U™ g 3YOTE 39 HETe §G &1 91 g1 5

3. ¢ 98 B 1 7™ g, o HeTel1 §5 &1 A 9 1 81
4. % TIAT §g 1 A8 T I A AT 8T

Question Number : 188 Question Id : 7532296864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRed & § &1 91 9T Igad a1 82
Options :

1. % A & THI WM TR IYHT U HR 71|
2. % A A GHET WG fb 3BT Ue WR 47
3. % JHEI WM g ARE BT U WR T[™47|

4. ¢ A A WHET WA 3R IYHT U HR 71T

Question Number : 188 Question Id : 7532296864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiead & @ ®F 91 ared Ygad a1 g2
Options :

1. % AT & THI GH TR IUPT U HR 71|
2. % A A THET AT fob IGHT Ue WR T
3. % QT EId 8 ARE BT U HR 47

4. ¢ A T WHT WA 3R IFHT U HR 1T

Question Number : 189 Question Id : 7532296865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAufafad 7 @ o 97 919 IR 919 82
Options :

1. ¢ a9 819 IR T} T 98Td ool 81 a1 B |

2. % gy gs b 1 &1 9819 al gl

3. % qui g3 YT 4] &1 9819 ol 81 71Tl

4. % 9 981 gid} d8 ) BT geTd ol B ST B |

Question Number : 189 Question Id : 7532296865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiad # @ o I1 a1 IR aTe 82
Options :

1. ¢ a9 §H TR A &1 95Ta It &1 e |

2. % gy g3 fob It &1 9819 ool gaf|

3. % qui g5 SHIIT 4] BT FgTd ool 51 7147

4. % SIq quf giclt a7« 141 T §8Td oIl g1 Sl 5|

Question Number : 190 Question Id : 7532296866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 o a3 e fare o Forg apt T T 2
Options :

1. % MR g

2. ¢ Giolh TG

3. % 3y favm

4. % 3fg favm

Question Number : 190 Question Id : 7532296866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A g fparell & ot i favm g o1 v g 82



Options :

1. % fde fog
2. ¥ ol fog

3. % 3y fav

4. % 31g favmH

Question Number : 191 Question Id : 7532296867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad & S gas fog eF arg?
Options :

1. % A

2.% o

3 % =

4. *

Question Number : 191 Question Id : 7532296867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ o gae g o A e?
Options :

1. % ~

2.% o

3' w =

4. *

Question Number : 192 Question Id : 7532296868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofiad 7 9 & I1 fdeeu SuaTe &7 He T8t 82

Options :




1. % 1 IudIRT

2. % faRIyUr JuarE™

3. ¢ oo IuarR

4. % Topa foRIvor Iuar

Question Number : 192 Question Id : 7532296868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofeRad o 9 oF 1 faded Iudred &1 4g T8l 82
Options :

1. % 1 IUATH

2. % fqRIVUr AT

3. ¢ fobar IuaTeR

4. % fobar fa=Ivr SuaTeRy

Question Number : 193 Question Id : 7532296869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T B =Y A B 7 190 T 22
Options :

1. % H T R I3 A for|

2. ¢ T Y SR g A o |

3. % T Y SR g1 A g |

4. % T T 3R g3 1 faa|

Question Number : 193 Question Id : 7532296869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 BT B F P 1 1 el 72
Options :

1. % T T 3R gh<) A fera|




2. ¢ HA T 3R IH3 AId T
3. % T T 3R 953 A forg |
4. % T 3R FH3 A fpa|

Question Number : 194 Question Id : 7532296870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Il W SR SHE SHS UST| T & iTdhd 3 & oy Sugad Xeg BT -
Options :

1. ¢ 3UR

2. % 3R

3. % 3

4. % 3d

Question Number : 194 Question Id : 7532296870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et B SRR SR SHS UST| a1ed & ¥@ifdhd 372 & ol IUged g 81T -
Options :

1. ¥ 3UR

Question Number : 195 Question Id : 7532296871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd T 3 2| 919 & Rad WM & oy Iuged Tiee &-
Options :

1. * faiia

2. ® QRIDHRUT



3. % Qidagdd
4.« QfaRmet

Question Number : 195 Question Id : 7532296871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATH o3| AT & Rekd RIM & oY Suger Tea &-

Options :

1. % grfeRT=itet

2. % RIDHRUT

3. % Qiqagad

4, « fcIRIe!

Sub-Section Number : 2

Sub-Section Id : 753229427
Question Shuffling Allowed : Yes

Question Id : 7532296872 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

TG & YR & Bid § - FATad 3R STad | FedTaeh d § Sl Uh & gt H g¥R & Ufd I gl gOk & ged # it ugd & ufa Saa &)
qHhd ¢ ol 1Y, U 3G | ORI TR 51 1Y <71 a8 UK 1Y & HRUTgH W HI 1YY SR Tabal 5| IS §H U0 4 98 TAR WA Dl ¢&@
Y ot OF R a1 8 | SMTad AT forids Uid S Bid & SUd gad A afe Sl ol al gL HTdl &1 giY ®3t | §ab Sfavid Ha, g,
$f of1fe 81 Fore 80 1Y 31 98 BHY §HR WY & UHTT I HY g1 11 Sich §H WR &1 ST | 78 IR 89 a1 ] 98 gHRI &l &
HRUIGH TR T ol BT dieth Hgl ST | R 1 $%1 H<7] 98 §HRI ™1 Bl ¢ 8HY 381 el afeh ol S|

SIS T & YR R FAfRad usi & IR S|

Sub questions

Question Number : 196 Question Id : 7532296873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT fHa TR & Bid 82

Options :



1. a
2. %
3. % IR
4. % Org

Question Number : 197 Question Id : 7532296874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QAT HATIRT B T 572

Options :

1. % Hg

2. % Ul

3.9 0

4. % i

Question Number : 198 Question Id : 7532296875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafEd & & B /1 H-ERT Tad el 3
Options :

1. % HYg

2. DIy

3. % Ul

4. % i

Question Number : 199 Question Id : 7532296876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe gr fordlt T i g1a § 4 S9! ufafssar gaR ufd forg =u & grf

Options :
1. % Hg



2. % gur
3. % 39
4.

Question Number : 200 Question Id : 7532296877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe gA frdt T i B3 | a8 gAY T B
Options :

1. % Hg

2.% Ul

3. ¢ YOI

4. % Ygl

Question Id : 7532296872 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

I & YR & Bid § - FATad 3R STac | Tedraeh d & Sl Uh & ged H g¥R & Ufd I g1 g8k & ged # it ugdl & ufa Sua &)
T g o 1Y, UH ST | o TR §H 1Y B 98 THR 1Y & HRUIEH IR H 18 o bl ¢ | FSTI8 81 U0 H91 98 gAR IH &1 ¢
Y ot U1 R qhdT & | SMHTad J-aT fords Ufd S Bid & SUd gad A afg Sl ol Tl R HTdl &1 giY 3t | §ab Sfavid Ha, g,
Sf anfe €1 O g1 g i) 98 BHY AR YA & UHIE T 4 18T 1 e §H TR <1 1| o7 R 81 U1 H71 98 AR a1 b
HRUI §H TR T 16! BT diedh Hgl HT | o g0 31 H<71 98 TURI 391 &1 ¢ §HY ™1 a1 Sfesh gum & |

ISR T & 3R R Faferiad usi & I il

Sub questions

Question Number : 196 Question Id : 7532296873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT foha THR & BId &7
Options :

1.¥al



2. % d=
3, % gR
4. % U9

Question Number : 197 Question Id : 7532296874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSl HAIRT D1 1 62

Options :

1. * HYg

2.% Ul

3./ 0H

4. % 3o

Question Number : 198 Question Id : 7532296875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 F-R”N SHTadl el 82
Options :

1. % 4g

2. v Y

3. % i

4. % 3=

Question Number : 199 Question Id : 7532296876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe g fopet @ waefid 81 § ot It ufafshan gaR Ufd fovd =0 o g
Options :

1. % Hg

2. % YUq

3. % 3=



4. 3

Question Number : 200 Question Id : 7532296877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl g1 fordlt I S ¥ Al 98 THY I HI?
Options :

1. %= 4y

2. % 4l

3. ¢ YOI

4. % 4l




